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PART -1 i g
GENERAL INTELLIGENCE

Raju is facimg North. He goes 35 metres
ahead, nmss keft and walk 20 metres.

5. At 2 restamrant, five goests are sitting
in z row. Neeta is to the left of Manju
and to the right of Navin. Riskabis to

1. TS EETEE IE =Sy
S HiT T E = T E S 20T

5. IS LiwEaTOmIsh
i S T 0 EWH SR =

ight and 25 the right of but to the left of ) - A3 i 3
smwmemse | BRI eimatene | SymeSEn
which drection is he ? %ﬁ; Centre & =% for o o & AR (A) W '

is he heading ? RS ETE T I =wE B) =T=#
(A) Narth (B) Souh (C)  Exiveme kit )
(D) Secoad from the right Restar=wir (C) sE=|mw
(C) East - (D) West Directions : In Question Nos. 6 and 7 (A) == \) @D ImEEw
some stalements gnmfo]bwed wo = -
comlasmﬁu:calandﬂ,“:;h*e ©C T= . Dy == FEairmdsmeMIT T = 3 7

2. Moanoranjan walks 10 m towards
South of point ‘P’, terns to his nght
and walks 4 tm Turm o his Aght and
walks 10 km and then be tams to his

g:;ms:detﬂ:cmmbememnf
seem 10 be at vartiance from commonly
keown facts. You are to decide which of
the given conclusions, if any, follow from
the given statements. Indicate your answer.

2 TiEw P WA ¥ W oS s
10 &2 == & o9 Smw
PR R R

st nEwi iamm =T
T gasT e 59 £ IE 3 ==
T AT EEE T | I e
st RrwbsSsisT i R eE
skt esS Famw

left and covers a distance of 5 km 6.  Statements: ﬁ"}e‘ﬂ“‘“w v 10 et = & xS o T wm Tt IR TR AT |
How far is he from the point P* ? Some biss buildings Em s RmmsE = 6. TOF: ﬁ::';ii?;grg:
are 9 FRAFRIe |
(A) 1km (B) Skm = Anmml — PEadfmidwty Crest r?:nii-sﬁﬁtu
€) 14km D} 20km bloe. a) 1&% B) 95 IL3s 35 T A
i II. Some bips buildings ‘-\(C')/IM (D) 2o =3,
3. Select the correct combimation of —

(A} Only inference I follows.

(A) T==HRIFTTTTT

£
j mathematical signs to replace ¢ signs (B) Only inference II follows. 3 3 wiem = Ffea ¥6 o . B) FEitOte=TE
1 mdwbalmoednengmm (C) Both inferences I and I follow. fol = vhtE = § fow oo C) F=HIFIF=F==E
i 7+223%526 (D) Neither of the two inferences T EETE T D) I
4 follows.
(A) —-*+=X (B) +X=+ 7 m:wm'mm T=2=23=25=68 7. W:F‘%ﬁﬁi@? |gw
e 5 K= io]iggthgm e \}A) — =X B} +x=+ glq? | =E S a3
> m's 3 = - ) ( =X+ - {D) X=++ mé%'
. Conclusions : 1. Some chillies are Breed: L

4. I °X meass “+°, "+ meass ¥, -

II. No omdon 1S ginger.

4 F|_xESHEETL, vYEITE,

means %" and ‘=" meams -, then (A) Osly conclusion I foll ;_:adiyﬁ;{_.aa&§~_.’& L%ﬁwlm%.
6x4-5+2+1=7 (B) Mgh&mu%n 6x4-_5:2:1=2 ) TEm A EEE
(A) 10 ® 1 (€| D e Colonii (A) 10 ®) 11 Eg; ﬁﬁ‘ﬁ“fﬁ“émé '
© 12 D) 15 D) No.eofme.oomlnsionlorll o= D) 15 Saaen 1 ‘
TETA T HTEH
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12

ST AaaT

ARTNAS 4

ANINRE 4

CEMI



Directions : {Q. Nos. 8 to 14) Select e
relatad woed/lettec/nomber from the given
altermatives.
8& Jeondice:-liver:?

(A) Dialysis - Kidney

(B} Rash:Skin

{C) Im=agination: Brain

(D) Valcotine - Heart

9. ABDE:PQST:MNPQ:?

(A) EFHI (B) UVXZ
(Cy DLN D) TVWX
10. EILIMS:SMOE:-KRAPS:?
{A) KRAPS (B) SPARK
{C} PARKS (D) KARPS

11. 64:100:-16:7
(A325 @B)36 (G50 [D)sS

12. 167:14:-143:72
(A7 B)8 (O6 (D)

13. Mathematics : Numbers :: History - ?

{A) People (B) Evenss
{C) Dates D) Was
14. Ancient - Moderm - Often - 7
{A) Always (B) Newver
{C) Seldom (D) Regular

Directions : In Qsestion Nos. 15 o 18

find the odd word/letters/number pair from

15. (A) Reward (B) Praise
{C) Encourage (D) Pumishmeat

16,

17.

A} 656-56

i 41-30 D) 33-22

(A) Taste buds : Tongue

- (B) Retina:Eye

(C) Follicke-Har
(D) Balasce:-Ear

(4) FHIL
) KMOQ

Fand out the set among the four sets
(30, 18. 6}

(A) (40,28.14) (B) (50.3826)

© (40,24.12) (D) (50.36,24)

Arrange the following acconding 1o the
stages in the Efe cycle of 2 bustesfly -
1. Bautterfiy 2.  Caterpillar
3. Egss 4. Cocoon
A) 1,2,3.4 B) 3.2.41
© 3,421 @) 1423

Arrange the following words as per
order in the dictiomary :

1. Slide 2.  Shee

3. Shck 4. Sid

Ay 43,21 B) 4231
O 2,413 D) 2.3,L4

Which omne st of letters when
sequentialfly placed at the gaps in e
given letter senies shall complete it ?
_é&c _d_ca_bcad_c db_

{A) a.abdbac

{(B) b,b.dcaad

{C) c.c.bbhadc

D) ac,addbc

(B) DGIK
(D) SUWY

SPACE FOR ROUGH WORK

o e 1% 5 4

ANI N L

(B) 101-90

fRn:gisd i mEi T3
Him ST I
8 dEmTEac?

(A) TEeEEE (e T

‘(B - ]
{:ﬁ;m

(D) ﬁ%m
9. ABDE:PQST: MNPQ:?

(A) EFHI 3

(C) DLN D) TVWX
10. EIIMS:SMILE:KRAPS:7

(A) KRAPS B)

(C) PARKS ‘(’m/::nis&
11. &4:100:16:7

{A) 25 (B) )56 (DI5s

12, 167:-14=:143:7

a7 ‘,‘M 6 D5

13. = -wEE o TEE?

A) = (B) =7

{Cy =8 D) 2
14. RIS o0 ?

Ay 5= (B) ==

C) == (D)
fEn s s 8F=E R EeT T
T T ETETES TR T |
15. (A) =R (B) w&=1

(© WasEm \D) =

16. (A) 66-36 3B} 101-%0

€ 41-30 M-n
17. (A) =R

(B) Fewm (e .

(€ TE:IA

(D) &FH- ¥
18,3 (Ar THIL (8) DGIK

(C) EMOQ Dy SUWY
19. T WIEIRTES T

Aot mEEsTEE

(30, i%.6)

{ 40,28,14) (B) (50.38.25)
C) (40,24.12) M) (50.36.24)

20 = F S = a3

R e v B SaR =
1. FEe 2 FWEWE
3. & 4 ==

.2.3.4 B) 3.2.4.1
© 3.421 D) 1,423

21, BT S S TEEs A RE R

9 F FEEE e -
1. Slide 2 Shos
3. Shck 4 Sad
23,21 B) 42,31
) 24,13 O 2.3.L.4
22 = =IO TE S OE W e
R RS W ?

_dbc d _ca_bead_c db_
(A} a,abdbac
(B} b.bdcaad
lic—c,b,b.ade
(D) acaddbec
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Directions : In Question Nos. 2310 25. 2 29.
(ll-)oseisthe. ma:@ fmm -ﬁn: - el i
— hatrve BTLYDER FILYTLYZGHTLE
given ones that will complete the serizs. LY
(A) 3 B). 5
23 2,3.10,15,? c 4 D) &
A 25 B) 26 .
C 24 D) 30 3. HA=1.BAD=7 then HAT=7
o - (A) 8 (B) 10
CAE, . MKO, RPT, ? C 19 29
(A} WUY {(B) UTY o2
(G VUZ (D) WUZ 31. If FAITH is coded as 82731, HABIT
is coded as 12573 and HEAITH =
25. 12,26,54,110.7 coded 2s 192431, how can BELIEF
(A 223 (B) 222 ‘BCRHS?.
{C 220 (D) 225 (A} 394588 (B) 394733
26. Jzmal was bormm on Feb. 29, 198% © Ll
How many bathdays will be 32. If NATIONAL can be wriiten as
celebrated up 10 29-2-2004 ? INAANTOL bow can DOMESTIC
(A} 4 B) 5 be written ?
< 8 D) 16 {A) CDIOMTES (B) CDIOTMSE
27. Bm'nddatdehymLakshman © ®)
Il;mkmamw)’ than e . Zg"sl'ankisl‘l‘fmn
B 5 yOiugys the top and from the bomom.
gg%sfgsmﬁm gz‘?:myMaedn\zmd:
(A) Ram (B) Lakshman )
. (A) 45 B) 41
(C}y Hzmamzs- (D) Han
) 40 (D) 44
Gience o 65 eams = e | 3% Vikash sid That boy is e
After 10 yearsthe sam of their 2ge 5 it:ﬂsmdmy?s?bﬁ_l
95 years. What is the present age of — JROESRS Saac =
Raje and bis grandfatbey 7 boy related to Vikash 2
{A) I5&8%  (B) 10&65 (A) Uncle (B) Sea
C) 5&70 D) 3&865 {C} Nephew (D) Cousmn
SPACE FOR ROUGH WORK
CF 2013 D03INM4

fdw: i BIABimIEa Al
T Eergat xE=idaw

H iR FEEI T
23. 2,3,10,15,?
A 25 (B) 26

\V (D) 30

24. CAE HFJ, MKO. RPL,?

{A) WUY -(B) UTY
G vz D) wuz
25. 12.26,54.110.?
Ay 223 B) 222
D) 225

G
26. === = 5 29 =541 1988 F &3 |

2922004 aF 31 BB oW B9

=7

(A} 4 B) 5

@+ o

27. s@im EmEi | =
FsmtfegmIsm e
IR Asat I w3
s imRgEEaE?

Ay = (B) =

o= o &

28 TEENIEEIRE E SEE W EA
ST FTZ I 0T F a5, 5
FSEEAm S FWET | WERE T

29 I I SEadEE 9 L =
CTYSSREE?
BILYDETLFTLYTLYZGHTLELYTLY

S 8
4 o 6
3. TZTA=-I.BAD=7.FHAT="7

(B) 10
<y 19 D) 29

3. RERwEIFATHE 231 ==
SELHABITH I =wtadr
HEAITH S 1 == i 3
BELFFs e mwsas =7
(A 598 (B) 594789
C) 594978 (D) 594798

32. 3% == = w9 2 NATIONAL =
INAANTOl e = ¢, &1 =2 32

sy I DOMESTCHE Sa = ==
TEEFE?
Y (B) CDIOTMSE

CTSIMODE (D) CSITEMOD

33 SEsmIisEIsSEsEE e
B A2 T =w S =
i

B) 41

Lm D) 4

M SSmimE=smRTEIEE
st EgSFdEIEEr

SR 755 IR = 2 e E 2 == e AT B
(A) 155580 (B) 10WE6S 1 AS= B) T
'(C.l J (D) STE6S (Cy wEEm (D) S=usE
- TE=E T mrEE

003 NM 4 CF 2013



e i — — g b (oo MY

35. From the given alternatives. select
the woed which cannot be formed
using the ketiers of the given word
{A} GARBAGE (B) ORANGE
{C) LARGE (D} BANGLE

36. Out of 1865 people, 660 caa speak
Engtlish and 1305 can speak Marathi.
But, 120 persons can’t speak either
language. Then how many can speak
both languages 7
(A) 220
{C) 120

B) 0
D) 185

37. Some lesters are given below in the first
Iine and oumbers are given below hem
in the second line. Numbers ae e
codes for the alphabets and vice-versa
Choose the corect letter oode for B
given st of pumbers.

EMEKBZWQUDI.
5916482073
630825
(A) BIQWUE (B) BIUWQE
(C) BIWUQE (D) BIEWUQ

Directions : In Question Nos. 39 zad 40,
some equations are solved on e basisof 2
certaan system. Find the comect answer for

39. 6x4x5=456

IxZx8=283
4x8x3=7
{(A) 349 B) 934
iC 354 D) 493
40. H222=1220d337=16.522569="7
Ay 22 ®) 3
{C) 36 D) 26

Directions : In Question Nos. 41 and 42,
responses.

41 £ 20 3

5 7 6
2 45 5
A) 5 - (B) 30
G 15 {D) 21

42 11 20 35

38. From the given alternatives, select 4 3 -2
the woed which can be foemed using s 3 5
the letters given in the word. = e
ABOMINABLE 49 63 ?
{A} BOWEL (B) METAL {A) 39 (13) 472
{C) BLAND (D)} BANAL (Cy 112 D) lm\
SPACE FOR ROUGH WORK
CF 2013 ES3INM4

BUUSEATIN |

3. e iiwmw= R
Br 7 v= 3 3 = W= =15
FE SIS
BANGALORE

{A) GARBAGE ({B}—ORANGE

{C) LARGE (D) BANGLE

36 ISHES TR TR I=TTE
oS TESA TS £ 19 120
SHEE i S aw = I
SRt AT wm e =
[ 24
(A) 220 M
) 120 (D) 1085

37. REdvEsS R RTmE ST
TN maEstaE RemE
ST EmIe iE=
FEEE S e 9 |

EMKBZWQUDIJ
5916482073
630825
(A) BIQWUE
WWQE
{C) BIWUQE
D) BIEWUQ

38 FrwEEEiiwmT=RETRS
R E=iaha IS
TR

ABOMINABLE
(A) BOWEL [ (By METAL
(C) BLAND (D) BANAL

fEn . i W S T = T

S TEisamumEmmE
= Ie% W I SEEm = 9 I
A e |
3. 6x4x5=45
3x2x8=283
4x9%x3="?
(A) 349 (B) 934
l(/q/s( ®) 493

0 IER=12F337=16,T569="

Ay 42 -(B} 39
\V/(D) 2%
. rmiaFoitewmE=ad
e I T = |

4. 4 20 5
5 72 6
9 45 5
A) 25 B 30

W/ o 21

22 1 20 35
3 =2
3 2
63 7?2
39 By 72
i2 o) 100

""‘E%U\h

TE I F Ho ™A

AT WTAE 4
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43. Choose the comect altemnative from

the given ones that will complete the
seTies.

Question Figares: -

XX || X[ x|
Answer Figures:

@ | ® | (D

o |@] o |

<
46. Select the missing number from the
given responsss.

S
a5

(A) 10 @) 12
< i3 D) 15

47. Identify the diagram that best
represents e relationship amoag
classes given below -

Doctor, Patiest, Haman being

B0 ®

OO
o @D o 0

438. Which answer figare will coopless
the pattern in the goestion figure ?
Question Figare :

E

Answer Figares:

A=) LJ||B

(A) B . © V)]

3 T iiR TS =
ST

SR
2| [

(A) \(B/ < D)

44 b IITEEaEa TR
¥ gt

B

- sl 8 -

.
"

(A) B) < \(D)/

45 mIshmgmassasa=E

w | & B)

\9 o |IS

46. TTmEEEEdIgEE T
ey
A 10 t;u)/lz/

© B D) 15

4. =ETRIAREEETisEE
TEaEaE FEmEaEt

a2, T, T
(&) ®) @
o @O o OC_)O

48, == I TH IFh vE 38 $ T
sE@WEW?

g
Eﬂ'w:

M| E]|S]E

W G0 o

SPACE FOR ROUGH WORK

TE IR S mr ==

NAINA 4
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A ® O (D)

FOR VH CANDIDATES ONLY
Find the wroeg number in the givea
seTies.

2,5, 14,41, 122 366

{A) 41 (B) 366
© 5 D) 122
If Orange is called Lemon, Lemon is

Pzn, what is Rose ?
(A) Pea (B) Lemoca
{C) Flower (D) Fsh

45. 'S’ means -, ‘Q means X', R’

meass “+ and ‘P means 4+ thea

1P45SR2Q284=7 ¥
@0 @2 €36 M6
A group of 30 stodeats play cricket
and football. 20 play cricket and IS
play footbell. Each student plays at
least one game How many of them
play both ?

(A0 @35 (10 D)5

. Inzrow of trees, 2atree is 11% in the

row from the left and 16® from the
right. How many trees are there in
therow 7

A27 B2 (25 D)8

What greatest number of S digits s

divisible by 315 ?
(A) 99685 (B) 99999
({C} 99855 (D) 99568

. How many 55 are there in the

preceded by 3" but not followed by *2°?
5243546785325735642354752358356
(A) Two

(B) Three

(C) Four

(D} More than four

In 2 joint family there are father,
mother, 3 mamied sons and oze
unmarried daughter. Of the soas, two
have 2 daughters each, and one has a
son. How many female members are
there in the famsly ?

a2 (B3 ©Os @9

SPACE FOR ROUGH WORK

CF 1l

49. 9 v= IEeA | TEw e e

F S sAS O e § 5%
=TIt
mayﬁii:

¥ 4

L prdlanla

- - > -
.... .... = ° - - -
- = -

- =
% %" Ll
- - p - -

A ®  © o

50. T IR FEEE E E 39 I I

sHiuEE T aEsE =
o

G

I A

8] Y|X
A) < M
T Feaiad SuiraE $ =T

43. FESEwdew sEnEEeE |

2,5,14,41. 122 366

LT ®) 366

) 5 D) 12

Y4 IRl

=0T = £, T TS 2 = £,
e R Pt E S
RN A ALY

¥ == ®B)
© = (D) W=

=EVEHEET O, QEMEN,
REFBT IR PaEALTY.F
IP45R2Q2S4=?

(A} 40 \@)/-Q

< 36 D) 45

30 T = = = B o
A oua € | 20 FeE B e
£ 3 15 I w0 £ 1 TS e
FITW S EE ISR et 17

iEFEEEER D
(A) 0 B~
© 10 D) IS

. BesdsmiEEimis

FTING TR I 165 1

SHigmEsa iy
a 27 \B 2%
© 25 D} 28

S 3 = 39 9 33 3 92 5=
3IsEWTE?

{A) 99685 (B

(C) 99855 (D} 99568
i sEm e TR E
w3y IrsirE?
52435&6785325735642355352358356

(A 3 (B =

() =W D) WIFATT

o= 399 W § e, o, 3 el
ERNEIFEE T IEad
FFE I THEINEITE
peR SR e ca b R
(a) 2 (g

< 6 D 9

mtﬁ%ﬁwuﬁ
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PART-1II
ENGLISH LANGUAGE =

Directions : In Qusstion Nos. 51 10 55, a
sentence bas been given = Direct/Indirect.
Ost of the four altermatives suggested,
select the one which best cxpresses the
same senicace in IndirectDirect 2ad mark
your answer in the Answer Sheet.

51. The poor beggar said, “0 God, have
mercy oo my soal”.

(A) beggar prayed to God
to have mercy o= Ess soul.

(B) The poor beggar, imvoking
God, implored him to have
mercy on his soul

(C) The poor begear exclaimed that
God. Bave mescy oa his soal.

(D) The poor beggar told God to
have mercy on &5 soul.

S2. [Israt said to Irfaz, “Let’s go to Pun

for z change.”

(Aa) 1 proposed o Irfat to go to
 Pari for a change.

(B) [Israt sugpested o Irfat to go o
Puri for a change.

(C) Issat asked Ifa to go to Pun
for a change.

(D) Istat proposed o Irfat that they
siould go to Puri foc a change.

53. Jobn's father reminded him to take
has umbeella.

(A "s father said, “Remember
your umbeeliz John 7

{B} “Here, is your umbrellz John~
said his father.

(C) “Are you going to take your
umbrellz or pot 7 said Joha o
his father.

(D} “Doa’t forget w0 take your
umbeella, John™ said his father.

54. He s3d to her, “Why didn’t you put

oa the brakes ?

(A) asked her why she hadn’t
pet on the brakes.

(B) He asked ber why she didn’t
put on the brake.

{C) He asked her that why she
hadn’t put ca the brake.

(D) He told her that why she hadn’t
put ca the beake.

S§S. She sad to me, 1 took breakfast i
the mormang.”
{A) She me that she took
breakfast in the moming.
{B) She told me tha: she had taken
breakfast in the moming.
{C) She told me that she has taken
breakfast in the morsing.
(D) SEe szad to me that she was
taking  besakfast im  the
moming.

A wTm &

Directions : In Question Nos. 56 1o 61, the
1¥ and the last sentences/pants of the
passage/sentence zze oumbered | and 6.
The rest of the passage/sentence is spiit
mto foar parts and named P, Q, R and S.
These four parts-zre pof given I their
proper order. Read the sentence and find
ocut which of the four combimaticas is
commect. Then find the correct znswer and
iadicate it by blackening the zppropriate
oval [@P] iz the Answer Shest.

56. 1. Science is coecemed with finding

out how things actually bappen.

P. that a Light object falis

the groend at the samerate as a
heavy object.

Q. It does not mean Iaying down
principles as to how they cught to
happen.

R. This did not agree with the views
of most leamed men of that time.

S. The most famous example of this
concerns  Galileo’s  discovery

6. But Galileo proved Bis point
experimentally by dropping
weights from the Leaning Tower
of Pisa

(A) PSQR (B) QSPR
(C) RQPS (D) SQFR

57. 1. Afier inventing dynamms, Alfred
a rich man.

P. created a fund just two weeks
befoce Bas death.

Q. Alfred & pot want 0 be
remembered as the mventor of
‘dynamite.

R. Hc apprehended #ts umiversally
destrective power too fate.

S. Prizes are given from this fund to
people for their enommous
coaimibutions to humanity.

6. Nobel prozes for varices
disciplines are awarded each year
oa the anniversary of bis death

(A) PQRS (B) RQPS

(C) QPSR (D) SPQR

B3INM 4

o

58. 1. A proposal has been made
P ists will continue to visit
b
. t0 tim the homs of dubos o
discourage poachers
R and the question is whether
S. 10 see rhinos once the z2nimals” horms
6. hzve beca timmed.

(A) RPQS (B) SQPR
(€ QRPS (D) PRSQ

59. 1. The pumgent vapowr that is

60. 1. Msss Sellivan led Helen inio her

room znd gave her adoll
Iygﬁa simply making ber
mphmm

S. Miss Sellivan put ber big rag doll
into her bip and also spelled
6. Her teacher had been with Ber

understond that everything Bas a
name.
(A) SRPQ B) QPSR
(C) RPSQ (D) PSQR
61. 1. Mane: chose to study Paysics
P. 3 the four forces at
work

Q. in the universe
R. which is a branch of sciznce
S. both on a lasge scale. as in the

solar system
6. or onasmall scale, 25 iz soms.
(A) RQPS (B) RPQS
(Cy PSRQ (D) SPRQ
CF2013



my kgs, _63 w0 my every
movement. time 1 &4 up
work, bas deep brown eyes &5

4. (A w ®)
Cy (D} opened
65. (A) wi ®) into
(C) D) on
66. (A) wown (B) viliage
(C) street (D) forests

Read the passage carefully and choose e
best answer to each goestion out of the foer
aliematives and mark it by blackesing e
appropriate ovzl [@P] iz the Answer
Shest

The Burean of Indian Standacds
(BIS) does not specify amy standards for
domestic exhaust fans. Therefore, none of
the models tested camied the-IST mark
CERS tested the exhaost fans for power
coatimusty, electrical input and profsction
agzinst darect cumrent Al of them were
found ® conform w0 the safety
regmrements for commercial or industnal
perpose veafilating fans set by the BIS.
CF2m3

16

debivery of the fan éves if it adds 2z Entle
more to your emergy bl =

67.

71.

The decisica of the consumess 1o bay
an exhaust fan would depend on thew
(A) Iking (B) deswe
(C) reguiremest (D) fancy
The installaticn of exhaust fans with
high service vzloe should be

{A) space oncated

(B) bill orcsted -

(C) delivery—of-air oriented

(D) ail of the above

Teguiremenss
(D} comply with rules or standands
Nooe of the domestic exhaust fans
camied the IS1 mark because
{A) CERS andpot IS]tested Zem
{(B) ISI hzs no stzadards for them.
(C) they pose no damger of power
(D} they are fisted with guards.
The service valoe of the exhanst fans
varied because
(A) air delivery differed
(B) electricity consumpticn &ffered
(C) they were ok fitted with guards
(D) both{A)and(B)

G3INM4

Directions : In Questicn Nos. 72 t0 76,
some parts of the sentences have errors and
some are correct. Find oot which part of 2
sentence has z2m error and blacken the oval
(@] comesponding to the appropriate
letter (A, B, C). If a sentence is free from
errors, blacken the oval corresponding t©
(D) in the Answer Shest.

72. Asaboy Dhritiman is very cbedient.
nﬁaﬂm,
A)

batasastudentbheis
®) !
always inattentive in stady. No emor
© :

Whea @ fsil
(A)
tosolvedlepmhkmmysdf’
B) =
Iuﬁe@ydhdforﬁshdg,
©

Noemor

@ -

1 2nd Tina will | go %o the market /
e )
i:dn:ewnig_.lbiom
< @) -

75. Kriskaakali, an early riser
and a nature-lover
(A)
goes to morning walk at Rabindra
(B}

Samvthkel before dawn.
©

{

!

No emmor
D) -
NEINMI

D) -

17

There would have been 2 disaster

/

& 7N ®)
2nd for your prompt actioa. |
(4]
No emor .
D) -

Directions : In Questica Nos. 77 to 8L
sentences are given with blanks to be filled
in with s appropriate word(s). Four
alternatives are suggested for each
question. Choose the comect aitemative ocut
of the four aad indicate it by blackening
the appropriste oval (@] in the Answer
Sheet.

77. Come what , [ skall adhere to my

prncipies.
(A) cam (B) may
(C) might @) will

78. Slowandsteady  therace.
(A) iswinning (B) wins
(C) will win D) win

79. Night came on and the room

dark.
{A) sgrowing (B) hasgrown
C) g=w (D) waill grow

$0. Only patience and fortimde carried
(A) over
C) om

(B) about
(D) through

81. Octopases are mostly shy and
barmiess to baman beings.

(A) geserally  (B) madnly
(C) completely (D) rarely
CF 2013
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Directions : In Qusstion Nos. 82 & 83,
choose the word opposite in meaning to the
given word and mark ® in the Answer
Shezs

82. [Indifferent
{A) restless (B) inattentive
(C) attentive (D) relizble
83. Agiae
(A) please {B) distush

(C) pacify (D) rouse

Directions : In Question Nos. 84 & 85,
four words zre givea in each guestion, out

of which caly one word is correctly spelt.

Find the coerectly spelt word and mark

your answer in the Answer Sheet.

84. (A) weliful (B) wilfull
(C) wilful (D) wilifall

85. (A) satelite (B) satelitte
(C) satallite (D) satellize

Directions : In Question Nos. 86 & 87, out
of the four altermatives, choose the ome
which best expresses the meaning of the
given word and mark it in the Answer
Sheet

86. Pretend
(A) guess (B) suspect
(C) think D) feign
87. Angeished
(A) somowful (B) doubeful
(C) respectful (D) joyful
OCF MMl

Directions : Ia Questioa Nos. 88 0 90, foar
underiined i the sesfence. Choose the
alternative which best expresses the meaning
of the Idiom\Phrase and mark it in the
Answer Sheet

88. We have to put up with the sorrows of

Efe.

(A) bear patiently

(B) fight against

{C) welcome cheerfully
(D) treat with indifference

89. I saw through the trick and was o=
geard.
(A) asticipsted (B) detected
(C) witnessed (D) defeated

90. He is mot 2 good lawyer bet he has
the gift of the gab_
{A) Hecan talk very fast
(B} He can speak very well.
(C} Hebas a good voice.
(D} He caa pretend convincingly.

Directions : In Qusstion Nos. 91 10 93, out
of the foer altermatives choose the one
which can be substiuted for the givea
words/senteace.

91. Oune who takes care of 2 building

(A) Janitor (B} Manager

(C) Warden (D} Beadle
92, Onewhohdsn;nnaeyaa\uyhigh

interest

(A) Banker {B} Usarer

(C) Imposter (D) Former

93. Incapsble of being zpproached
{A) Inaccessible (B) Imadmissibie
(© Imesistible (D) Miegal

GNI NN 4

Directions : In Qusstion Nos. 94 &£ 95, 2
part of the sentence is underlined. Below
are given zlternatives to the anderlined part
at (A} (B), (C) which may improve the
seatence. Chocse the coerect altermative. In
cas¢ po improvement is nceded. your
answer is (D). Mark your answer in the
Answer Sheet.

94. The President shook bands with all
the persons on the dais.
(A) shook hands with 2.
(B) shook bands with cach of the
persoms.
(C) shock hands with everyose.

(D) oo improvement

-95. The fronds of the coconut tree make

a gentie pwssical note when the wind
blows.

{A) mmsic note

(B} mesic sound

{C) musical sound

(D) no improvement

Directions : In Question Nos. 9610 100, 2
sentence has bees given in Active/Passive
Voice. Out of the four altematives
suggested, select the om= which best
expresses the same sentemce in
Passive/Active Voice and m=ark vour
amswer in the Answer Sheet.

96. 1 don’t like people telling me what to
do.

(A} I don't like it when people are
teliing me what 0 do.

(B} I don't like being todd what to
éo.

{C) Telling m= what 1o do is what [
Gon't like.

(D) 1 den’t like pecple when they
tell me what to do.

DO3NM4

19

97.

100,

Have you been shown whattodo 7

(A) Have anybody beea shown by
you whatsodo ?

(B} Hazve anybody been showing
you whattodo ?

(C) Has you been shown what to
do?

(D) Has anybody shown you what
sodo?

Adityz saw Dinesh shopping at the

mall

{A} Dinesh is seen shopping at the
mall by Adstya.

(B} Dinesh was sesn shopping at
the madl by Aditya.

(C} Dinesh was beisg scem
shopping at the mali by Aditya

(D) Dinzsh is being seea shopping
2t the mall by Aditya.

He wasn't given the information bhe

needed.

(A) Somsbody was not given the
information he nesded.

(BY Tie information BEe needed
wasn't given to him.

{C) He pezded the information he
wasn't given.

(D} They didn't give him the
izformation be needed.

Bipin was not told zbout the meeting.

{A) So=ebody did not =l Bipin
S .

(B} Thers was nobody who could
tell Bipin zbout the meeting.

{C) Nobody told Bipin zbout the
meeshng.

(D) Thke mesting was oot told about
to Bipin_

CF 2013
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QUANTITATIVE APTITUDE f (,
181. The radius of cross-sectica of 2 sold 2sin68° Zcotl5®
cylindrical rod of iron is 50 cm. The 106 e T Sem75°
cylinder is melted down 2nd formed

% ALY S

Iy, thenﬂ-cucdtquhnrdgs -

2= (A) 2:3 “@®) 3:2
'1\ £ cCy 1:3 b)) 1:2

103. If the base of a right pyramid is
tizpgieof sides Scm, 12cm, 13 cm

and its volame is 330 c=’, then its 7

& s
(1+coBi(l + 2’ B)is
'\r{ﬁo @5} B) -1
1 © ® 2

fo

3 tzn 45°%am 20°tam 407220 50°- 122 T0°
5

isegual ©o
B) 0

(A) =
@D 2
= 1

107. The value of cosec® 18°—mt272° is

1
(A3 ﬁ (B) 33é
1
<G 3
108. If o+ B=90" then the valoe of
O (1-sinfa)} {1 —cosPa) x

’)‘:'

Soae oy wilhe 52T | 109, Hrm6-cote= O,ﬁndlieva]neof
(B) 32 4 . sin8+cos B
< D) 22 (A) o (B) 1
104, Thcpetixmlu’_ofadxmbusislm 9\,
<m and one of its diagonals is 40 cm. 110. If d:e interior angle of a regular ff‘ 2
Its area (in o) is S Aans polygon is double the measure of 2
a1 (B) 1000 £ extenior angle, then the member of 57
y (C) 600 @) s ¥ ?:)%%fﬁepdygm&) ;
105, m the shape of a2 with a
T —vs.-Sehe 28 -8 - 12
equilateral riangle of the base 8 cm. 111. A right prism stands ca 2 base 6 cm
how much paper has equilateral triangle zad its volume is
beea used to make it ? 8$1+/3 cm®. The beight (in cms) of the
(use\B3=1732) ism i
(A). ¥’ B) SVl h @A) 9> (B) 10
(C) S972ar’ (D) 539217c’ < 12 D) 15
1 SPACEFOR ROUGH WORK d.‘ W
,-//'f %! '\S S;) -
"1 2 5 \‘;S
e 27 T
@«o" ) 2 3
2z ¥ :g
v S =
CF 2013 e - 003 NM 4

T -0

101 =2 = o= 35 3990 98 S IS
szabGsodFtizmFTH
formeT 6 U8 eR R A e R
(S samatms et

oz o TEs e a2

(a) 08 B) 2
(0)3 (D) 4

102. o= 3Fi = W, 59 °F 3o
FSamm st S awe
e atEIEw
mwagﬁaimﬁwém
s Easgm e

(A) 2:3 (B) 3:2
C) 1:3 D) 1:2

103, =& U= gues NiiET = e 5 '
R am B3 s e
# zEm == 0 T A A9
SEEm T
(A 33 3B) 32
) 11 ® 22

14, =5 SHegEE W oW 100 ¥ ¥
o T AN Y TR I =PR
eSS SRR Y
(A) 1200 (B) 1000
{C 600 (D) sm

105, S visw v mm e 2 s
H awmm T aEIadE®
¥ | R B T S O e e
FEE e 3= 17T
(A) S39712 R

2sin68° 2ok 15° _

c0s22° Stan75°

3 tan 45°tan 207 tam 40°-12n S0°- = 70°
5

uA) -1 ¥ B) 0

106

c 1 D) 2
lﬂ.mc’lﬂ"-ou,——no = o= =

Lo

@ ® L2

© 3 \@r
188. W a+p=0ra A
(1-sin’aj{l —cos®a) X
(1+cot®B) (1 +tan” B)
waR e am?

A 1 B) -1
1 D) 2
tan 8- outB oﬁ.amem;o

(4;/6"a ® 1

D) 2
116 *a‘mw%mﬁt#v
WIS TE e A e AT

== A t?
B) 8

C 10 (D) 12
111. =5 9% 0 6 35 e 59 =9
e w fem o d@v o owER

sh3E t  mEE m R

{B) 538721 =52 ﬁﬁﬁﬁ‘?
D) 5392178 C 12 D) 15
TR S wrEs
S e Ty
LTI e PSTF
0O3NM 4 L - CF2013
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the valpe of xis
a) s ®) 5

© 25 @ 35

113. The total number of Prime factors in
O PxI€x11x10% is

a) 34 B) 35
€ 36 D 37

114. Owt of the pumbers 03, 0.03, 09,
0.09 the number that s nearest to the

valee of \JO9 is
(A) 03 ® 003

C 09 D) 009

115. In a division sum, the divisor is 12
times the quotieat zad 5 times the
remainder. [f the remainder is 36,

then the dividend is -
(A) 2706 (B) 279
© 2736 (D} 2826

116. The value of

1 1 I 141 1 N.
35'[ 4“{‘2'2( 'EB =

117. Arbind speads 75% of his income

and saves the rest His income is
increasad by 20% and be increasss
hisexpmﬁmebyw%.'lbmd:e

increase in szvings in percemtage is
A}y 55% (B) 52%
© 0% (D) 43%

118. Two alloys ze both mads up of
copper and tn. The ratio of copper
and tin in the firstalloyis 1 : 3andin
the second alloy 52 5. In what 2o
should: the two alloys be mixed, to

obtain a new zlloy in which the ratio
of tin and copperbe 8:3 72
(A) 3:5 B) 4:7
C 3:8 Dy 5:11
2 1
573 1 )
119, 1 5 * 1 isegaalto
3§+l7 2+ 1
2+—l
3=3
1
A 1 (B) 2
© 2 © 3

128. The sum of two pembers is 520. If the
bigger number is decreased by 4%

3 20d the smaller sumber is increased
® 3 ® % ot Tt b
©3 o T
SPACE FOR ROUGH WORK
CF 2013 003 NM 4

——

x—y28) (75 ++/50) 7. sem st ama e samt
uz R p s S1RF | shhvewdwd o amd 0%
x5 T Fe 2 2 Te FEAWMmwmATEINES
> FEwmWmt i wmER s
(a) ®) 5 wp EEdmAFzaw Ipe
© 25 D) 35 (A) ® 2% .
0% D) 4%
113, 49 x P x 162 x 11 x 10® ° =79 118. @ TSR U G S
preai Rl ¥ 7 Sy b o 2 S 123
(A ®) 35 : rmgEiE2: 5% 1RgER, A
C) 36 D) 37 o @ B9 s ® T
T asHtrmidmmdar e
114. 03,003,089, 0.09 == =, 37 ¥=9 :ﬁw;;mw?w .
' 3 A} 3: ) 4:
==FEF mEhEmami e B
*) ® 003 ="
< 09 (D) 009 24 |
1o 52
115. 599 3 = IS | Bues, 9eS R e
WS WSS TEE 277 5L
weTET, 9% 399 weeE 368, ® 5_%
==
W(B) 279 S 1
) 2736 D) 2826 A 1 ® 3
1
116. 3%-[214-{11—1(11—1-1)}] el W
il e el 120. TS w0 I |_FT I
e e VT Sou 4% o o Row e AAroRd
I s S = 2% = K = 7 wa o
1 1 7 = 33 §=m
l_y/(g) 25 :g?‘llm
1 1 (A) 280 3 210
T TR S A==
— 2 :‘ M 3 ' = ‘
7 ¥ -% 9% B
S ‘gir :’,“-"{C’o —;‘J '“'}‘:_‘:f;gt
g ’3-;’*’:’\_Q.-;'—: = .-—\ . =
ST 20 TRAGE 73= 3=
e —ee, s
g% g 9
sa3aNM4 27 s, S M, sae CF 2013
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121. A mixture contains alcohol and water
inthe ratio 4 : 3. if 5 litres of water is
added to the mixture, the matio
becomes 4 : 5. The guaatty of
zicobol in the givea mixture is
(A) 3 hitres - (B) 4litres
(C) 15 Etres (D) 10%htres

122. The average of nine oconsecutive
pumbers is n I the npext two
numbers are also included the mew
average will
(A) increassby2
{B) remain the same
(C) mcreasebyls
(D) increaseby |

mmmmmamd

126. A mobile phooe = Bsted 22 T 1,500 2nd
2 discount of 10% is offered on the Bst
poice. What additional discount mest
be offered to the castomer mow o

bring the net price t0 7 1,242 7
(A) 10% (B) 8=
) 12% D} 18%

127. A, B and C entered into 2 business and
thexr investients ratio was 5 - 4 - 3.
After 4 months B mmvested T 1.000
more and after 8 months C mwested
T 2,000 more. At e end of coe year
the profit ratio was 15 : 14 : 11, then
the imvestment of C at the beginning

was
(A) T3,000 B) 6,000
(€ T4500 D) 7500

128. Two trains, cach of length 125 metre,

FOIOALT WY LI oniay | 1 o

money is cf the sum If the are runming in p-'all.geuu:b in
mni:erofymxsmd!yequd 'runilginaq:eedﬁstlﬂh::nmg
to the rate percent per annum. then they cross each other in 6 seconds.
the rate percent per annum is The speed of the other train is
1 {A) 7Skmhowr (B) 85 kmbour
@ 33 ® & (C 95kmhbowr (D) 105km/bour
1 1 129. An article was sold 2t a profit of
© 25 @) 75 12%. If the cost price wouid be 0%
fess and selling price would be T5.75
I4. H(z+b):(b+c):{c+2)=6:7-8 more, there would be profit of 30%.
and(a+b+c) 14, then the value Then at what price it should be sold
ofcis _ to make a profit of 20% ?
{A) 6 ® 7 (A} T11S (B) 120
C s D) 14 C 138 D) T215
139, ﬂlfnlboostmccdoflzspensn&qndw
125. Evaloate 3 ) seﬂmsgwe peas, the gain
«szJ+ 12+ﬁ—{ﬁ— 3-\f8_l (A) 25% (B) 333%
@ V2 ®) 3
© o ® 22 S ® 6653
SPACE FOR ROUGH WORK

CF 2013

BINM 2

2. =hmismmmm s g I
4.3t 1 WmEmIsdzm S
It dism4-5E
5w ) wmEw, 3 oW BEw E
E S S koo d S
(A) 3= (B} 47
(C) 157 (D}

I 9 i = A%t | T
I 3 T ISR 9 v = A
o, v dmiemdame
A) 28 FeaT
B) F|@T)
€ 1is =ity
Dy THRFE 1

123. ©F e W 9T = 38 O =
Lt T e e, e T
TN ST TER T
=i

@ 3 ® &
e > ) - l
€© % ®) 73

124, 6%.(a+b):(b+c):(c+a]=6:7:8
B (zsb+o)=MHBA FcH T
=am

(A) 6 3B) 7
©- 8 D}
125. \J20+ 12+J’729—\Bf = 8l
HEOE T T |
A) 2 ®) 3

© o | DL2fF

126. SS SRR E I Fa T 1
tFH T 10% S E ke
R, = owms # B
= = ﬁn:, &% ==
SEEE TR T 1228w
'(8 0% (B) 3%

:‘“‘é

'ﬂ

127. BT CorE = 95:4:33%
IR RN TS TR 14T
BRI IO T T
FEsEF R CIT 200 =
FEm e RS
W ENEIEAIS 411
wWRACE TS EnEsmw?
(A) 2 (B) 76000
(! £500 D) T7500

128. 125 ST =41 T e o
HawEEkwimat =
R sEEsmIwE
AR I R s SE W
S € 1 TRgE, T nel 9 1

iy
(A) 735 (B ssFRE
( Bid o) 105
1. T R2EEETa R W)
=59 A 59 10% 5= o ik S
TR IS ST AT 0%d
TN IR, AR NETEAITH
EaATErE IR
W B) T120
i38 D) 215
1. S REaaRs=iE =
T= T O = W SN e
Ay

(A) 3% {B) 3335

M(D} s65%

= TR S AT

O3 NM 4
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131. Ha-b=3and 2® - b= 117, thea 137. ABC is an isosceles right amgled
LT ot
A 3 B) 5 ACD" and ABE have been
© 7 D) 9 constructed. The ratio of areas of
132. Ha+bsc=15amd@+HP+2=83, (A) 1;‘;“@“@) 2-3 .
then the valoe of 2 + 5%+ 3 abe is © 1:2 D) 1:42
a2 ). 180 138. The radii of crcles
EWO Conceninic o
© 1% @) 210 dlicndSmABisaﬁmn?
133. If the graphs of the equations g - @i'ﬂmi’?m”
x + 2y =18 2d 3y < 2 =1 :u@adeaapmizp'“
intersect at the point (p, g), then the toD. Thelength of AD s Joimed
(vaheA) ;f p*qis T (3)) Wem (B) 19cm
. { 18cm D) 17cm
© s D) 4 '
/15 o }-‘f aﬂgm straight - >
=25 : cm cm. A straight ine ABCD
14 M= 5 » e value of intersects the larger circle 2 e point A
- sdis and D and mersects the smaller circle 2t
x+/20 +-JC, - the points B and C. F BC = 12 cm.
x-20 T x-412 then the keagth of AD (in cm) is -
A 1 (B) 2 a) 2 (B) 24
© B ® 5 5= 0
= 140. The exterior angles obtained on
mr sz:::l“l:;mm“lm producing the base BC of a triangle
n ¥s working 7 hours a ABC @ ways are 120° and
day: bow many days will it take %o 105°, then the vertical /A of the
complete 2 work twice as large with triangle is of measure
lOumniSwmqutiag (A) 3¢6° (B) 40rF
together 8 hours a day ? C ¢5° (D) 55°
(A) 6 B 7 .
© = ® 10 l‘l.lfAD.anadC_Fmoind;nsu(g
% K2 -3sil= following statements is correct 7
el N S {A) (AD+BE+CF)<AB+BC+CA
15+1-5isegniw (B) AD+BE+CF>AB+BC+CA
= {C) AD+BE+CF=AB+BC+CA
(a) 7 (B). 123 (D) AD+BE+CF=+2(AB+BC
© B5 @ 201 : i
SPACE FOR ROUGH WORK
CF 2013 003 NM 4

131. Wa-p=37=S-P=11TE 7

L+bEmE T ET?

Ay 3 ®B) 5
\(9/ D) 9

132 Was+b+e=15TTMal+ P+ 3=
BA AL+ +S-3abcTET
=awe
(A) (B) 180
i .- (D 210

133. =’ wieeH 3xr + 2y = 18 ™=
y-2xr=1F FufE WK (p,q) g
Wﬂﬁ‘@pq-qﬂ“%ﬁﬁ'l?

Aa 7 - B) 6
@8

_ ﬂlS
134 *x—‘\lg+ﬁ & at

x+y20  x+4f12
1_@+1_‘[ﬁﬁrmﬁﬂ
W

@ 1 B) 2

© - o 5

B ammzoemEsET2mm
v&;@lz &= o8 o= = E
=, =T ETE IS IR 0
TElEmsE s e
ST
(A) 6 B} 7
/1o D) 10

136. aﬁﬁ-axu:oz‘x,a‘uhl%a

s ame
(A) 81 By 123
[(lCy 135 (D) 201

137. ABC &= wwigex oeim = &, i
B=9rt iFRTHE ACTTAB
% =5 59 ACD 7 ABE =5%
¥ | ™FET AABE 7 AACD §
&5 = Fa e ?

(A) 1-3 3
- 1:2 D) 1:42

18 3 1o = =0 13 S5
s i ABRE mE =t A
BDE= i imiaisigasDw
WERRENN B WRER 15
AsiDE sz R ¥ 1 =g,

ADSiFEE e a2
{A) 203 M

D) 1755

1¥. 3 S 59 = e 17 = 0w
W& ¥ iTs == ABCD 2=
SAmDERIwHeET S
B7 C fRd w == ¥ 1 =mm
T|BC=12F0 & @ AD & 5%
TR
(A) 20
o 30 (D) 34

140. T= &= ABC § W BC = 39
FT|H W WS T Y =
12° 7w 105° % 1 =, e i

sSm/AT S ET WY :
(A) 36° (%)/4@/
(C) 45° ) 55°

141. 3= AD, BE 73 CF, AABC ¥ ofzssy
dAat=dssasmsh?

(A) AD +(F<AB+BC+CA
[@/Aﬁfgg+a=>ax+m+ca
{C) AD+BE+(CF=AB+BC+CA
(D) AD3BE+CF=+2(AB+BC

+CA)
& 5 % T wm =
< S 4”: {".-}
2% b2 a-)( Pk - L= S
35213

KLy224 =1 172 &%~ 5%

o N = 3 fi:"é? = g

=3 ’;" 2 = 1 ‘. Jg

M wTRE &

Fa - - 1l e oansa
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142. The product of two numbers is 2160
and their HCF is 12. Number of such
possible pairs is
A 1 B) 2
<o 3 D) 4

143. If two pipes fancticn sinmltzneously, a
tank 3s filled i 12 hours. Ons pipe fills
the tznk 10 howrs faster then the other.
Ibwumyh:sdoestheﬁwp'qx
alone take wfill he tank ?

A) 20 (B) 18
© 15 D 12

luTworighdrmlzmofeqnal
-beights of radii of bases 3 cm and
4 cm are melted together 2nd made to
a solid sphere of radins 5 cm. The
height of acome is
A) 10cm
© 30cm

145. The elevation of the top of 2 tower
from 2 poist oa the ground is 45°. On
travelling 60 m from the poimt

(B) 20cm
D) Ocm

anaﬁaaNo&l?mdlﬂ.
| Percentage of Total
Candidates Qualified = Number
under discipline of
Year glg = | dates
g1 E|E | E | qualified
E|2|E| 5|8
<|#|0l<|=
2006124 140|19/09 ] 08 780
2007115142 18|13 12 650
2008 (20 |45 20 |08 | 07| 500
2009115 145|16| 14| 10] 620
1019351519 12 200
2011|181 £2/14112] 14 830

147. The decresse in the pumber of
candidates gualified. under Arms

towards the tower, the elévation of discipline from 2010 to 2011 was
the top becomes 60°. The height of (A 1 (B) 18
the tower, in metres, is C 42 (D) &
Ay 30 ®) 30(3-+3) :
© 30(3+3) ® 303 148. The difference in the average number
of candidates qualified in Science
146. The vaipe of e 3
(a—by _ b-cp discipline per year from 2005 1o
b-c)(c-2a) Ta=bjc-a T 21])8_ and the avemage ?‘ of
@-cpf ) candidates qualified in same
a—b) (b "perea=bzcis disciplize from 2009 to 2011 was
A o0 @B 1 A) 47 (By 57
< 2 D) 3 C 74 (D) 141
SPACE FOR ROUGH WORK
CEMI P —

142. FEsmai= 2160 X A == A el s
mmmigit_lmw P18 F T - .
TR S HE o awes veT e - -

(A) I B 2 frwEsw s = bt
© 3 oL veifE i |

13 /AP s a S =y
REFIWIAE I T = T = 1 s
o ged @ 10D e EE ¢
THEAWFAE I L =% 99 W _
::g:fa'%ii'“ SN 2006 (24 |40 | 19 | 09 | 08| 780
A) 20 B 18 2007 | 15|92 | 18| 3| 12! 6%
© 15 D) US| Jc o oy |

144. 3= ¥y, e T e 208
tahF o atida = 2009 15 |45 | 16 | 14 | 10! 620
fﬁﬁéggﬁm;ﬁ;i? 2010 19|35 15| 19| 12| 900
AR, U5 Wy = S P gl 2 2011 | 18 |42 | 14 | 12 | 14| s%0
(A) 10%= B) 20%H -
€ 303 D) i1-1q I

145. P fEimtmsyes 147. 2010 ¥ 2011 &= == S=55 § o=
gﬁnginwﬁgﬁﬁwé ST AR ot
fmiodasTwmis
T 6 B TR E | g LA u— @ 18
Ay 30 B) 30(3-3)

3543 e 33—
£330+ ) 148. 2006 ¥ 2008 7% w98 Smw S T
e = G- 2 S i @ Sy Sem o
(b-c)ic—-a) " (a-bi{c-a) - . N
= E=m F 2009 ¥ 2011 7= T
e wm masbac e sk Sw i
f‘"‘ﬁ”? 5 A ® 57
%}421’ o 3 < 4 D) 141
TESA S Fr =
E-bira-s o iy e vdoay 5 gy dag
- - , - =5 ' a-f- %
(L. sff.ff-!!' (a- R+ Q-5 (5-¢)
a-b) ra ¥ s-eN{e-ay i o Fro-sYe-allQ-¢
~ fa.g:”"—‘_-;»t\j{»--ef'!
INM S ; 29 F W3
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M:Smdydnfodh-ingm&
amswer Q. No. 149 & 159

B Amom = iy et o e
Yoo Y in ki) of sules of Snished goods

amount imvested in raw materizls zs

Compared to the previous year ?
(A) 1996 B 1997
< 1%

D) 1999

154, What was the difference between the

average amount imvested im r=w
materials during the givea period and
the average valoe of sales of finiched
goods during this period ?

(A) T625kakhs (B) T68Shakhs
© TTiS5kkds (D) T77.51akhs

vamwcmdy

lﬂ.Aanda’simmmareinlhcmtio
3 - 2 and their expeases are in the
ratio 5 : 3. If each of them saves

T 2000, then the income of A is
(A) T2000 (B} 710,000
C T12000 (D) T15,000

148, A and B bave monthly incomes in
- the ratio 6 : 5 and dheir moathly
expendimuitbenﬁolzilﬁbey
save T 1,600 and T 1,800 respectively
per month, then the monthly income
of Bis
(A) T7200
€ T64m

(B} ¥5800
D) T6000

149. Raticof mcomes of AandBis4:- 5
and ra8o of their expeaditare is 3 - 4.
IfewaadBme?l.Sm,thea
the income of B is
(A) Ts0m {B) T7500
(©C TI5500 D) T5.000

150. The rasio of monthly incomes of A

and B is 3 : 4 and the ratio of their
monthly expenditure is 2 - 3. I each
ofd)emmflz,(n)pernmﬂz,
then monthly income of A is

(A) T24000 (B) 36,000
C) T4000 (D) T60,000

SPACE FOR ROUGH WORK

CF 2013

OAINNT 4

Fr .- tmaafres s ms
149 37 150 3 3o 36 1 '

: s It
';,—.ustx-rtﬁtftg- 5

=
=
Z=
A
=
Z
Z
4§

i
i
E
5
i
§

IV =SS agtSs=Sam s
FwmowdiftS S

=Rl
A) 1996 ®) 1997

{C) 1998 D) 1999

150. = 7 35t § ==% o Fanw S
IS ST e S =
FEwm i dmw a2
(A) 62578 (B) T685=w

(C) T715=" (D) T7TISTE

e

. AT BR sm3: 25 gt
s EEs 3w Ei®
s I NS T TR
FAT Iz
() 7300  (B) T100W
© T1om (D) Tisow

Yol

48 ATT B TS a9 6:55 =y
St TFmameEd- 3T
%t =R & w e
ILM0TT I 10T T = A
FpE i mEEi?

(&) 7200 (B) 530
C T6400 D) Y6000

149 AT BE smuagEa -5t
eI W aEE3I-4T 1 =R
TATB RS (1 S0F T
SFmadABTE mEad
{A) 76000 B) T7500
C} T5500 D) T5.000

150. AT BE S aR E A3 4
TS TE T EEaE2-3
T IR R e T 2000
S S TS s dAR
TEs =
(A) T24000 (B) T36000
) T48000 (D) T60000

T IR S mo s

<
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PART-IV
GENERAL AWARENESS .
151. Who is the Uniom Minister of 157. The
Unica temrisory of Puduchernry does
mmwg“" theaa—nbouhywlh
gg ;]v“mimu 5 (A) AadnPoish(B) Kerala
(C) Vayalar Ravi (O Kamaaka (D) Tamil Nadu
O A S 158. Which ose of the following coussrics and
IS2. In which event in the Asian Athletic their capitais are wrongly paired ?
Champicaships, 2013 Vikas Gowda (A) Switzeriand — Geneva
'maguldmda!? _(B) Apstria - Vienna
{;)’ Lo Jemp - (C) Denmark -
mis. - iy
© Skt Put (D) Finland - Helsinki
(D) Disces throw 159. Which ooe of the following Grand
153. Which oo of the following amnual Slam titles is also known as “Rolland
cultural eveats is pot beld in Madhya Garros™ title ?
Pradesh ? (A) Australian Open
(A} Moarwar Festival (B) FreachOpen
(B) Tansen Music Festival (Cy Wimbledon
(C) Ustad Allauddin Festival (D) US.Open
(D) Kazlidas Samman
154, Dr. Ravuri Bharadwaja has been 160. Which cne of the following films
chosen for the Jnanpith Award, 2012 ::mbyslmkayxsbmdm
contribution in RMM_TSG(R-
(A) Tamil (B) Telgu (A) Aparajia
(C) Kannada (D) Malayalam % Charulaa
155, Which of the following series is troe (D) Apur Sansar

abome-:lgy“ﬂowinmmym?
(A) Prodacers — Decomposers —
Coasamers.
(B) Decomposers — Coasumers —
_ Producers.
(C) Prodscers — Consumers —
Decomposers.
(D) Comsamers — Producers —
Decomposers.

156, vnnd:dﬂnfothwmgﬂneeksm
regadedsennmmmﬁ:mdly"
(A) Reduce. Rebauild, Restrict
(B) Random, Reduce, Recall
(C) Read, Register, Recall.

(D) Reduce, Reuse, Recycle.

CF 213

161. Which one of the following Eterary
works was pot written by RK.
Narayan ?

- (A) Malgod Days
(B} Swami and his friends
(C) Gaide
(D) Garduer

162. Kisan Diwas (Farmer's Day) is
observed ontie
(A) 1"hiy
(B) 4® December
(C) 18® December
(D) 23" December

sAms ATRE &

€T-IV
TER FEET

151. Sfen S ogis v = = 5
=i
(A) = = @
(B) . ST=xuR=
(C) smmm s
(D) ===

152. o= g=gs JgTnE, 2013 % Fw
i RsERsaT ST w?
(A) SSz=m  (B) 00523z
€ ¥ D) ===
153. B o s o9= 9§ 9 =y
- BRI mE
(A) TE=s =5
B) mﬂa#ﬁagma
(C) == ==
(D) TheE ==
154, = 0 wE S =E oew 8 e
FFE Stgs IR § e o
FTEL R FET T =2
(A) &&= (B) FT
C) =z D) ===
155 SO o S i me s S
FedisadgEa =
(A) =T T==F - I3
(B) FEF - 75557 - 35S
(C) === - 7 - ==
(D} I9=T — 39=F - T2
156. FmF R IETE=am=m 3
FEETE AL
(A) Reduce (3 7). Rebuild (f&r
(B) Random (T5S7). Reduce (3
F), Recall (@9 $99)
(C) Read (). Register (20
(D) Reduce (3 F). Remse
=
003 NM4

IS7. ETERg=w____ 9%
TEEmEE
(A) ==w=
C) ===

B) ==

D) FEFg

158 FemarssiaRsdss T
TR
(A) FErle -
B) -
(C) ===
D) -

159. 7= = Sv == 3 3 e T
e aEme s ame?
A) ===
B) F=IH
(C) ===
D) I W FH

160. == WM b e g
S wHeAw I w B ==
TETEaEEEE?

(A) i
(B} =em

(C) =w=Ee
(D) FFI|T

161. 7= 3 3 3= @ =FTs =9 an s
TR E RS e
(A) ==@d=
B} wEikzEES
C ==
D) wER
162. F== S e
(A) ISR ® (B) 4FkE==
Cy BFEw= @O BRE=S
CF 2013
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163. Third stage of Law of Vamiable

164.

165.

166.

167.

Propoetion s called
{A) negafive retams
(B} positive retams
{C} ocomstast retumns

(D} increasing retumns

Elasticity of demand with respect ©
price is
% change in demand

(A) elasticity ="g ; ~nge in price

% change in price

(B) elasticily =g e in demand

% chanse in demand

(C) clastcty =" chamge in supply

. . _ % change in supply
(D) elasticity =" e in price

The incomes of Indians working
2broad are a part of

{A) domestic income of India

{B) income camned from Abroad
(C) npet domestic prodact of Indiz
(D} gross domessic product of India
Whsch Indian industry is employving
large number of workers ?

{A) Iron & Steel Indusary

{B) Textile Industry

(C} Jete Industry

(D) Sagar Industry

Cross demand expresses the
(A) decmand and prices of related
éemand 2nd Income.
demand 2nd prices.
demand aad supply.

(B)
<
(D)

CF 2013

168.

169.

170.

171.

172

173.

In which House. is the Presiding

Officer, mot 2 member of that Hoase ?
(A) Lok Sbha

(B} RajyaSabha

iC) Vidhan Szbha

(D) Vidhan Pazishad

To which category right to vote

belongs ?

{A) Heman Rights

{B) GwilRights

{C) Naturz! Righss

(D) Political Rights

Constitntion means

(A} the powers rlating o
International Affairs.

(B} = powers relating 30 Internal

(C} the powers, which can be

exercised both by the Uniom

Government and the States.

the powers, wisck have not

been specifically epamerated in

Concurrent List.

D)

Which dynasty immediately
sacceeded the Mauryz dymasty and
ruled Magadha Kisgdom ?

(A} Satavahana (B} Sanga

{C} Nzada (D) Kamva

How many members are pomuinated

by the Pressdent to Rajya Sabéa 7

a) 2 B) 12

) 15 Dy 20

The Chainpan of the Public

Acoomnts Commitiee of the

Parfizment is appointed by

(A) Speaker of Lok Sanda

{B) Prom: Minister of India

{C) President of India

(D) Chairmzn of Rajva Sabha
SI3INM 4

SRS —

16 9 sy e adsd e e
=i

164,

165.

166.

167.

(A) == vhes
(B) o= wes
(C) Twaies o
D) == wie

TEFEEIETaeE:
=i S % W
@) = Fm
. TR A% e
B) =T
= = ¢ T
© =gz
EEhacoat
® ?‘h%m

Sedsmmawe g I
(A) e =9 IE W I
(B) e az=s=w3dn
€ TR T
(D) WFF F 5= 5 395 = &9

= $9 @ @0 s §9=w 3

Eea g T E?

A) SIS

(B) F=TM

(C) == 3am

(D) <3 (v 7

;ﬁaﬁmﬁadma&

(A) == Sg= ¥ UW 3K =6E
Fs9

B) =mFETI=FIT

() S=dnsm= 339

D) S=IngEITEE

003 NM4

3s

168.

165.

170.

17L

172.

173

T E e RS
a&m?

(A) ST (B) 7=
C) Fwmww (D) Fand=
RS ISR Ss s i gET2?
(A) WETSST

(B) TiE sh=w

(€ =g s

(D) TS SN

SR EEEE F S FaEwe

Bl ko 2

(A) I T 8 6T Seen

(B) FaRs Foama ¥ T
FgET

C) Ieww == 7=n =e =
;ﬁﬁﬁmhwm
I

D) FEw = = o o=
T ETE I SE
wEEEEL

=2 39 F 799 9% =9 99 F ¥
TSR TS == ?

(A) T (B) ¥

0 = D) ==

T B ¥ WY O W e |l
FmmEaRE?
a) 2
© 15

B) 12
D) 20

== § s og s = oI=g
(A) S=ET =S8 Ta

(B) WA WA SN

(€ waEsSTm

(D) TEETF IITIT
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174,

175,

177.

For the annexation of which Indian
Kingdom. the “Doctrine of Lapse™
was pot followed ?

(A) Satara (B) Nagpar
(C) Jhamsi - (D) Punjsd
During the Second Werdd War,
which one of the foliowing countries
was not cee of the three Axis
Powers, winch fought zgainst the
Alled Powess ?

(A) Gemany (B) haly

(©) Chinz2 (D) Japan

The highest mountain pezk iIn
Peninsular In&a is

(A) ApaimeE (B) Dodabesta
(C} Mabendragini (D) Nilgins
Breaking down of rock in s is

- knmown as

178

181

(A) Erosios {B) Weathering
(C) Masswasting (D) Degradaticn

The loagest river of Europe is
(A) Rhine (B) Rioae
(C) Damabe (D) Velg=

182,

183.

184,

186.

187.

188.

mm«wsm&}
{A) Insects (B} Bacieria
C) ~irus (D) Protozoa
The plant that behave 25 a oot
parasile is

{A) Fcus (B) Samizlum
{C) Cuscota (D) Eupborbia
The largest White Blood Corpuscle is

(A) Lympbocyte (B) Mosocyte
(C) Terombocyte (D) Erythrocyte
Which of the following does sot act

both as an exocrine giand 2=¢ 2s an
endocrize gland 7

{A) Pitpitary {B) Pancress
(C} Tesus (D) Ovary
Match comectly the Nutrient

defficicncy gives i List-I with the
discases cassed by the deficiency

given in Last-11.
List-1 List-10
{z) Iodine (1) Microcytic
anzemia
(&) koe () Pemicouns
amacania
{c) Nizcin (iai} Godtre

{d) Vitzmin B, (iv) Pellagiz
@ o © @
@ @ @ 60 @
® @ G G
© @ @™ @ @
® @ O G @

The Coast of Norway is an example of
(A) Dalmatizn Coast

(B) Fiord Coast

(C} RizCoast

(D) Emerged Coast

Name the tiny pores present on the

sorface of zaves in plants.

(A) Pis {B} Stomasa

(C) Tochomes (D) Hydathodes
DI3NM 4

e e——— e e -

1. e s w2 5 &

175,

176.

177.

178.

179.

180.

181.

“Tg FEw AT © 9 3 T
a2

{A) =
C ==

T EshEEIisEaa
MESF RS IS TS S
S ch ki o R =g
o127

(A) ==
© +=

WENE A SR S S
A) == ®) IzEca
(C) =EER (D) it

s aE W EE
AL

(A) == (B} w5

C ==fFw @O ==

FERRTEEE S
A =& B) &=
C == Dy ==u

il e EFEs T =

HEEWE?

(A) 3= (B) ¥
C) =z D} ==
TR T T S e e gt -
(A) FTRiFTE=Im

B) FEEm I

(C) s==RS==1z=

(D) TEEEEETm

=53 e s 3 = e
I e g2

(A) 7= F=W 3 wEs 5

(B) F= IFr=amx

(C) =R v

(D) === 3% 3=

®) FTE
@ =

By ==
D) ==

BNINAT 4

182.

183.

184.

185,

186.

187.

I88.

TNE =W EEE T a E

A =d@wm

(B) = G I

(€ FeFEEEm ™

(D} W

o= WEE $ 53 8 =SEE 5 a9

gz
(B TF==m

(A) ==5 :
C) === (D) ==

TR T A

(A) == (EE)

(B) = 353m (@RISR

(© o=

(D) T (= TR =)
()

F= I3 S w I = T 3w
T mIS TSRS =T ?
[EV (B} F=wE
(C 7= (D) F==m
oL T W Uvw Imm oW B
TSRt e amE T
W mEEFET I
T -1 -1

(2) 33 @) T T
(b) == (ii) =0 e
{c) F=E= (i) =73 (99
(@) B=feB,, (iv) W=

28 () ) @
Ay @™ @ G @
(B) @ @Gi) Gi) Gv)
© @ Gv) @) @
D) G @ @v) G)
TEERWS e
(A) ===
B) =E==
C) f===
(D) ===
oS S w3 vE W O S e =g
= —E -
(A) =
(C) ===

(B) ™
(D) ==g
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189. In a filame=t type light bulb most of
the electric power consumed appears
as
a)
(B)
(&
D)

visible light
infra-red rays
witra-viclet rays
fluorescent Hght

A man standing on a edge of 2 cliff
throws a stone vertically wpwards
with 2 certain speed. He then throws
another stose downwards with the
same speed. Find the rafio of the
speeds of the two stomes when they
hit the ground.

A) 1:1

B) i:2

c 1:4

(D) Cannot be foupd from the

Who mtroduced the coscept of
“Stored Program™ ? v

{A) Jobm Voo Neumam

{(B) Charles Babbage

(C) Bilaise Pascal

(D) John Maunchly

Dioptere is the uait of
{A) powerofzlens

(B) focallengthofalens
(C) [Eghtintensity

(D) sound inteasity

When 2 stooe is thrown in the calm
water of a pond the waves produced
on the sarface of water in e pond

are
A)
B)
©

loagitadnal
{rzosverse
both  losgitudimal  and
{rzaosverse

(D) waves are not produced

CF M

154,

The gas used to extinguish fire is
(A) Nem

(B) ~Nitrogea

(C) Casbondsoxide

(D) Cazbonmonoxide

The non-metal foond in the hguid state is

(A) bromine {B) mitrogen
(C) flucine {D) chlorine
Tonisation esergy of oitrogen s greater

than that of oxygen becapse pitrogen bas
(A) bighboad dissociztion energy
(B) smzfler atomsc radius

(C) sizbie half fillegd 2p sublevel
(D) bigh mackar charge

Sulphuricacid s
fA) monobasic (B} d&hasic
(C) whasic (D) setrabasic

Which oze of the following group of

gases coairibeie ©0 the “Grozn Homse

Effect”?

{A) Carbon doxide and Methaze

{B) Ammoeiaand Ozone

(C) Carben momoxide and Salpher
oxid

Carbon  tetraflouride and

Nitrous oxide

(D)

Which of the following is an Disk
Operating System (DOS) command ?
(A) LIST (B) CHANGE
(C) DUPLICATE (D) FORMAT

RTINS £

.-

T TP VLY Y T IR I PN

189.

191.

192,

45 e S v == % W # R
MEmEp R TS AR e
{A3 wm*ﬂﬂ =

B) sm=iEEse=d 2"‘3
(€ e FEis=ed to-25
(D) TS

{{

= == F R W T = IRE

TR E R I IE S

IRt I T

ettt = ]

T SR IE R e A

FEEEIEHE |
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“FE v T SEu e gE w0

&2

(A) Fas=g5=
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(C) =_T=A
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(B) =HEsEEH
(Cy Tm S aEns
(D) sSARTET =

== S8 aoE T o = 8 = o
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A E
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FmEEgRsREEEE:
(A) 5=

®) =z

(C) SIS

(D) ==
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(a) =9 (B) WA
(€ === (D) ==

AT W e = Seae =
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(A) = aEs e
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(C) s pT=N
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TEE I
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€ T== D) qERH
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PART [ : GENERAL INTELLIGENCE

Directions : In queshons no. 1 to 7, select the
related word/letters/number from the given
alternatives.
1. MOQS:ACEG::PRTV: ?
(A} KMNP (B} OQSU
Je1 EGLJ (D} FHIM
2. 36:144::49: 7
{A) 198 (B} 154
“(C) 81 (D) 149
3. T6:42::66: 7 '
(A) 36 (B} 63
& 12 (D) 35
4 Picltgre:Seé-::Bmk:;'?_ '
{A) Listen (B) Library
(C) Buy (D) Read ~
. 5. Dark:Light:: 2 T . .
" (A) T0:Diseased - .
(B) Hot:Cbld
(C) Polluted : Contaminated
(D} Acerued : Accumulated
6. Swiﬁ‘nming: River:: Hiking: 7
(A) Mountain (Bl Sea
. (C) Road (D) Pond
7. HOPEFUL : LUFEPOH : : ETHNICITY : 7
(A) ICINHTEYT (B} CINHTEYTI

(C)_ YTICINHTE (D) TICINHTEY
Directions : In qruesfmns no. 8 to 11, find the odd

words/letters/number - pair from the given
alternatives.. _
8. (A) Poet (B) Publisher
(C) Author (D) Novelist
9. (A) KHEB (B) WTQN
~ (C) MKHE - (D) MIDA
10. (A) 41,52 (B) 64,73
(Z) 46,57 i 'CD] 38 49
'11__ (A) Hexapon ' Angle
(B) Square : Line
(C) Circle; ﬁ:m

12. Which one of the given responses would be a
meaningful order of the following ?

1/ Plant 2 Fruit
& Seed A Flower
(A) 3,1,4,2 (B) 3,2,1,4
ey 3,2, 4,1 0y 3,1,2,4 :
13. Arrange the following words according to
English Dictionary : oM
1, Bound 2. Bonus
3. Bunch 4. Board
(A) 4,2,1,3 (B) 4,3,2,1
(C) 1,4,2,3 D) 2,431
14. Which one set of letters when sequentially
placed at the gaps in the given letier series
shall complete it ?
ar_!'a% abab‘{-hab
" {A) abba (B) bbab
(C} abab - (D) baab
15. In the following letter series, hﬂ‘W many times
does P oceur in such a way that after P!, N O
should ocenr 7
APNQPNOSFTOZPNOYM PNO
(A) 2 B} 5
iC) 4 D) 3
16. Find out the set among the four sets which is
like the given set.
(23 :30:37)
(A) (21:28:34) (B) (12:19:25)
(€} 6:13 2 20) (D) (7:15:22)
Directions : In quesmms no. 17 to 19, o series is

given, with one: term missing. Choose the correct
alternative from the given ones that will ﬁﬂnpfe&
the series.
17. YVP, WIN,URL, ?_
{A) SPJ
{C) vsp

(B) TQL. -
(D) SRJ
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oo .2’ 8,18,52,50, 1 : ‘I’.‘)Eﬂ, hﬂm the given alternatives seloct the word
(&) 70 (B) 68 - Which cannot be formed using the letters of
(C) 64, (D) 72 the given worg, .
19. €38.%15381 2 SIGNATURE
(&) 73 (8) 63 (A) SIGHT (B) GAIN
© D) 36 (©) NATURE (D) GATE
g0, C is the iwotier of & and B..If Dis the| > {;‘SW_IGATE is written as SYTENDCAD
husband of B, whatis Cto D ? [A?n how cap ‘PS'}(GHUTI,C' he written ?
(A) Mother-inlaw (B) Sister . zzlﬂmcfpﬂ (B) . BSICYCOTH
(C) Mother (D) Aunt . YICTCOH (D) PSYCOHTCI
RO T e SRR N SO 9. Bome letters are. given below in the first line
. ' " 5 : and Numbers are given below them in i i
i) 29 () 38 ;]lﬁmnd line. Numbers are the codes for the i
k) -1 @ 39 : phabets and vice-versa, Choose the correct |
92, If PARK is coded as 5394, SHIRT is coded as etter-code for the given set of numbers,
17698 and PANDIT is coded as 6532068, how EMKRBgzw QUD J i
would you code NISHAR . im that code 591648320 e ;
language?-a gl S 2 !
(&) 201739 (& 361739 s = 428753 . 7
(C) 266734 (D) 231954 {E EQNLDEJ B) ZQEDMJ
- QMJD
28, 1f the 5™ date of a month is Tuesday, what |30 p E (D) ZQMEDJ
date will be 3 days after the_a'ilerida:.r n the which cang;:efx:} Hit-?imauvea thseiiact the ward
P - ; rmed 1sin
month ? given word g Lhe letters of the
(A 17 (B) 22 b
(€) 19 (D) 18 ICTIONARY
24, Seema’s younger brother Sohan is uldg.:; than (4) BINARY {#) DAIRY
Seeta: Sweta is younger than Deepti but elder (C) NATION (D) ADDITION
than Seems. Who is the eldest 7 Directi ! ;
: R ons : [ : -
(4) Seeta (B) Deepti missing numberfrom the groen sesernss o0 |
(C) Seema (D) Sweta s, § m g SpOnses, _
E B - E
25. Rahim and hiz uncle differ in their ages by T 49 7 J
30 years. After 7 years, if the sum of their I
ages is 66, what will be the age of the uncle ? (A) 38 ' }
or " - e e
(Cy m (D) 48 29
98100 133 :
26. Schan ranks seventh from the top and 6 4 g ﬂ,}“‘?q
twenty-sixth from the bottom in a class, How | B ¥ 7y {{h\‘ T A
many students are there in the class 7 21 33 9 y
(A 33 (B) 34 ' (A} 33 o lﬁ%{b
© 31 (D)_32 © 2 :E} L
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Directions ! In guestions no., 33 and 34, zome
equations are solved on the basis of  certain system.
On the same basis, find out the correct answer for
the unsolved equation,

33, If 782=20 e
and 671= 17, then
884 =7
1:-3
(A) 26 (B) 23 ~
{c) 32 (D) 19
34, ODxBxd=456 dxf x5 =536 "'; Fi
4xBxT=7 7
(A) 847 (B) 784 r
(C) 748 D) 478

35. A cyclist goes 30 km to North and then
turning East he goes 40 km, Again he turns
to his right and goes 20 km. After this, he
turns to his right and goes 40 km. How far is

" HeTibm his starting point 7 ..y o8
T : .Ay.@@mn
(A) 25km (BY 40km
(C) 6km (D) 10km

36. Select the correct combination of
mathematical signs to replace ‘4’ signs and to
balance the given equation.

ox7atalio
s
(A) +-n=
{G_} —xt=

B} -+x=
(D) =4+

37. If‘+' denotes +, =" denotes x, ‘»’ denotes - and
'+ denotes +, then ¢ 4 rg“f*f
3B5+T-56+6x6=7 v )
TR A - =5
(A) 20 (B) 14
{C) 36 (D) 24

38. One morning at 7o'clock, Naresh started
walking with his back towards the Sun. Then

he turned towards left, walked straight and
then turned towards right and walked

straight, Then he again turned towards left.
Now in which direction is he facing ?

(A) West
(C) North

{B) South
(D) East

Directions : In questions no. 39 and 40, two
statements are given followed by two conclusions
I and I1. You have to consider the statements to be
true even if they seem to be al variance from
commonly known facts. You have to decide which of
the given conclusions, if any, follow from-the given

Wstaiements. Indicate your answer,

39, Siatements

L. Eduecation is a process of lighting.

2. Mind requires light to enlighten the core
of cognitive aspect.

Conelusions :

I Education is a light which removes the
darkness of mind,

II. Education is a static process for mind,

_{i’lln_]' Both conclusions I and IT follow
(B) Neither tonclsion T nor I1 follows
() Only coneclusion I follows

(D} Only conclusion IT follows ..

40, Statements :

1. All students in my class are intelligent.
2. Sunil is not intelligent.

Conclusions ;
[ Sunil is not a student of my class.
II. Sunil must work hard.

{A) Both conclusions I and II follow
(B) Neither conclusion T nor I1 follows
{C) Only conclusion I follows
(I Only conelusion U follows

41. 3 daily wage workers A, B and C are
distributed ¥ 178 in such a way that A gets
T 4 less than C, B gets T 15 more than A and

C gets T 11 less than B. What is the ratip of |

their shares ?
(Al 53:68:57
(C) B0:51:52

(Bl §7:53:68
(D) 53:56:68

.CD 2013/Page B
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42. Five boys A, B, C, D and E are standing in 2 | 46, [dentify the diagram that best represents the

- row. Dison the.rig’ht of E. B is on the left.of relationship among the classes given below :
F, but on the right of A. D is on the left of C, '
who is standing on the extreme right . Who is Liquids, Milk, River water

standing in the niiddle ?

A D B) E
B D) C () @’:{D (B)

43. Which figure is different from the rest of the

three 7 g
(C) @ (D) @ O 1

Skl o

e B e

47, Which answer figure will complete the
& W © D : i

_“. " m'-'l [ -

i _ pattern in the question figure ?
b 44. Select the related figure from the given Question figure : 4
| alternatives. ;
O Question figures : . o _ : | l <
_ Yo . 0 =¥y i
a): A\ 7| B |
Answer figures i
; Answer figures : il
' [
i ; I I
Ao ] )4 4 P4 PS
: A C)
l (A) (B) c D I: ™ : : 2
45. Select the correct alternative from the given i .
ones which will complete the figural series. 43, Halect the pildsg: Mumber  from. e, given
; S b responses :
Question figures ;
Answer figures :
i :
| C) 222 @ 212
(A - (B ) (1) :
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49, From the given answer figures, select the one
" 'in which the question = figure s
hidden/embedded.

Question figure :
Answer figures ©
— [| orsilh

T 1AOL

(A) - (B) (C) (D)

R

50. A piece of paper is folded and cut/punched as

shown below in the question figures. From

. the given answer figures, indicate hew it will
-=» appear when opened.

Queition figures: i

(A) (B) () (D)
FOR VISUALLY HANDICAPPED CANDIDATES ONLY

43. Rita ranks 19" in a class of 40 students.
What is her rank from the last ?

(4) 21 (B) 22
(©) 19 (D) 20
44. %“‘ of %'h of & number is 363. What is the
square root of that number ?
(4) 44 (B) 40
©) 88 (D) 80

45.

46.

47.

48,

48,

How many even numbers are there in the I
following sequence of numbers, each of which

is followed by an odd number as well as
preceded by an even number ?

867668932763422355228119
(A) 3 (B) 4 ;
oy 1 (o 2

3

A man was going to the market with his three 1
brothers, each one of them carrying one child i
in their arms. How many were going to the |
market 7

(AT (B) 10
(C) & (D} 13
Find the wrong number in the given series,
8,17, 136, 75, 154, 308 -
Ay T8 (B) 308
(€ 36 © 17 E

In a wooden box there are 'n’ number of spcks ?
of two different colours. You cannot see
outside, but can put your hand and take out
any number of socks one by one. What is the
minimum number of socks one should take
put to gel vne perfect pair of socks ?

(A} 11 (B) 101
(C) 2 (D 3

Ifﬁ_atanda for +, @ stands for -, V stands for
% and R stands for +, then what is the value
of the given equation ?

16ABR2Q3V5="?
(A) 5 (B) &
(cy 17 (o) 25

Leela and Geeta had to pick up 1480 tiles
from a ground. Leela picked up 30 tiles more
than Geeta. How many tiles did Geeta pick 55
op? -

(A) 730
(C) 745

{B) T80 -

(D) 715

.CD 201 3/Page 10
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chnm In guestions no. 51 to .ﬁﬂ some purts uf r.h.z sentences have errors arm! some are correct. Fmd
out which part of a sentence has an error and blacken the oval (®) corresponding to the appropriate letter
4, B, Cl. If a sentence is free from error, blacken the oval mrrespandmp to (D) in the Answer Sheet.

PART 11: : ENGLISH LANGUAGE

51. Hasan plays / both cricket and billiards / at the national level. / No error.
(A) iB) (9] (D
52. My father gave me / a pair of binocular / on my birthday. / No error.
(A) (B} (C) (D)
53. Kalidas is / a Shakespeare / of India. / No error.
_ (A) (B (&) (D)
" b, The tédcher as well as his sEudé:_r_tL;s, { all left / for the trip. / No error. : "
) =m0 (D) e 5
!
5. More you/ think of it, / the worse it becomes. / No error. ]
(A) (B) () (D) :
!
Directions : In questions no. 56 to fit), sentences are | 58, TIf strict security measures were taken, the 1
given, with blanks to be filled in with an appropriate” tragedy might have been :
word(s). Four alternatives are suggested for each LA Feitraitiad. (B) averted
ques:aun Choose the correct’ ﬂfienmtha out of the. BT T ; _
four and indicate it by blackening tha nppmpnure [C]L removed () enntralied
pual (@) in the A:_wwer Sheet. _
: 59. The deceased left. . him two young]
56. The human mind seems te have built-in children. , '
= against original thought. (A} behind B for
(A) prejudices (B) ideas : ©) with D) by
{C) interests (D) safeguards £
|
57. A child is the future of a family 60. The statue . a global symbol of|
nation. . T : freedom. by |
(A} justas (B) asa | @) stands against (B) standsto |
(O) likea (D) aswellasofa |  (C) standsfor (D) standsas

€D 2013/Page 12 e | |
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Directions : In questions ao. 61 and 62, out of the
fgu} alternatives, choose the one which best
expresses the meaning of the given word and mark it
in the Answer Sheet. ‘

61. Wily
{A) Angry (B) Wize
(C) Stupid (D) Cunning
62,  Temerity
(A} Paucity (B} Verity
(C) Audacity (D) Simplicity

Directions : In questions no. 63 and 64, chbose the
word oppusite in meaning to- the givengword and

mark it in the Answer Sheet,

63. Insipid
(A) Tasty {B) Colourful
(1 Colourless () Dull

64. Relinquish
{A) Relish (B) Continue
{C} Vanish (D) Quench

Directions : In questions no. 65 and 66, four words
are given in each guestion, out of which only one
word is eorrectly spelt. Find the correctly spelf word
and mark your answer in the Answer Sheet.

65. (A) Dysentary (B) Dysantery
(C) Dysentry (D) Dysentery
66. (A) Rejevanation (B) Hejuvenation

I[C}. Rejvenation {ﬂ} Rejuenation

Directions : In questions no. 67 to 69, four
alternatives are’ given for  the [diom/!Phrase
underlined in the sentence. Choose the alternative
which best expresses the meaning of the
Idiom [ Phraze and mark itin the Answer Sheet.

67. The police cordoned off the area after the
explosion. &
{A} The police checked everyone in the area
(B) The police did not allpw anyone-to leave
the area
(C) The police filled the whole area
g,H The police isolated the area

68, The manager hesitated to assign the job to
the newcomer as he was wet behind the ears.
(A) stupid and slow-witted
(B) young and inexperienced
* {C) drenched-in,the rain
(D) unpunctual and lethargic =
£9. Mrs. Roy keeps an open house on Saturday

evening parties — you'll find all kinds of
people there.

(A) keeps the doors of the house open

(B) keeps the gates open for a few persons.
(') welcomes all members

(D} welcomes a select group of people
Directions ! In quesﬁpn-ﬁ" no. 70 to 72, out of the

four alternatives choose the one which can be
substituted for the given words/ sentence.

70. A former student of a school, college or
university : \
(A) Alumnus (B) Genius
(C) Scholar (D) Learner
71. A building in which aircraft are housed
(A) Hangar (B) Granary
{C) Dockyard (D) Garage
79. A short story based on your personal
experience 2
{A) Parable (B} Legend
(C) Anecdote (D) Fable



Pt g i

Directions : In questions no. 73 and 74, a part of
the senténce is underlined. Below are given
alternatives to the underlined part at (A), (B}, (€

which may improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D). Mark your answer in the Answer
Sheet.

73. The commoners joined the king's army at
crushing the rebels. ™ 3 ¥

(&) into
(B} in
() without

(D} No improvement

74. She is quite well now, except a slight cold.

(A} except have a slight cold

(B) ‘excepling a sliht cold

() except for a shight cold

(D) Noimprovement
Directions * In questions no, 75 to 79, a senfence
has been given in Active/Passive Voice. Qut of the
four alternutives suggested, select the one which best
expresses the same sentence in Passive/Active Voice
and mark your answer in the Answer Sheet.
75. She took the dog for a walk.

{A) The dog was took for a walk.

(B) The dog took a walk by her.

(C) The dog was taken for a walk by her.

(D) The dog took her for a walk.

76. The waiter filled the glasses with water.
(A) The waiter was filled the glasses with

waker.

(B) The water were filled in the glasses by
waiter.

(C) The glasses filled with water by the
waiter.

(D) The glasses were filled with water by the
waiter,

.CD 2013/Page 14

77. They will laugh at you. 2, a
(A) You will be laughed at by them. !
(B) You will have been laughed at by them. |
(C) You can be laughed at by them. ‘

(D) You may be laughed at by them.

78. Trespassers shall be prosecuted.

(A) The  authorities may  orosecute
trespassers.
(B) The authorities might prosecute g
lrespassers. F
(C) The  authorities can  prosecute
trespassers.
(D) The authorities shall  prosecute
tregpassers.
79, He was driving the car so fast that it skudded

-on the snowy road.

{A) The car had been driven by him so fast |
that it skidded on the snowy road.

(B} The car has been driven by him s0 fast
that it skidded on the snowy road.

(C) The car was driven by him so fast that it
akidded on the snowy road. !

(D) The car was being driven by him so fast
that it skidded on the snowy road.

alternatives suggested, select the one which best!
expresses the same sentence in Indirect/ Direct and}
nark your answer in the Answer Sheet,

80. He said to me, “I grew these carrots myself.” :
(A) He told me that he had grown thoseg 8
carrots himself.

(B} He told me that he grew those carrots]
himself.

(C) He told me I grew these carrots myself. °

(D) He told me that he grew these carrotd
himself. =
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82.

B3.

Mrs. Shankar said, “I_lmnw what it is to be
depressed.”

(A) Mrs. Shankar is depressed she said.

(B} Mrs. Shankar said that she was knowing
what it was to be depressed.

(C) Mrs. Shankar said that she knew what it
was to be depressed.

(D} Mrs. Shankar knows what it 15 to b
depressed.

“Who now,” they had asked, “will listen Lo our
troubles and protect us from the crocodiles *

.{A) They had wanted to know who will now

listen to their troubles and protect them
from the crocodiles.

(B) They wanted to know who will listen to
their troubles and protect them from the
crocodiles. . bty

W 1

(C} They had wanted to know who would [

listen to their troubles and protect them
from the crocodiles.

(D) They had wanted to know who then
would listen to their troubles and protect
them from the crocodiles.

Moti asked Gangu whether the latter was in
his senses. -

(A) “Gangu, are you in your senses 7" asked
Moti.

(B) “Are you senseless, Gangu * asked Moti.

(C) “Hey Gangu, are you in your Senses
now 7" asked Moti.

(D) “Cangu, have you lost your senses o
asked Moti.

He said that we are all born to die.

(A) He said, “We are all born to die.”

(B) He said, “We have all been born to die.”
{C) He exclaimed, “We were all horn to die.”
(D) He said, “We were all born to die.”
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Directions : In questions no. 85 to 90, the * and
the last sentences | parts of the passage/ sentence are
numbered 1 and 6. The rest of the passage | sentence
is split into four parts and nomed P, @, R and §.
These four parts are not given in their proper order.
Read the passagelsentence and find out which of
the four combinations is correct. Then find the -
correct answer and indicate it by blockening the
appropriate oual (@] in the Answer Sheet.

85, 1. There are a lot of ways to co mmunicate :
speaking, singing, clapping, hooting.

P. Even animals communicate with ona
another.

. Only humans can express their
thoughts and feelings in words
because of our superior brain.

R Both humane and animals alse
communicate through hody
language.

8 But their ways differ from the

" humans. P

6. Sometimes we don't use words but make
gestures (like traffic signs) or simple
movements of the hand in order to

communicata,
{A) PRSQ (B) QPRS
) (C) PQRS (D) PSQR
86. 1. Tires in the Steppes or bushes scared
humans earlier.
P. Gradually, they learnt to appreciate
the power of fire.

Q. Tt gave them light and warmth and
kept away wild animals.

R About 700,000 years ago, humans
started fire  accidentally by
lightning.

S, They could harden the tips of
wooden spears and cook meat in it.

6, BSoon they learnt to produce fire by
striking flintstone and pyrite with each

other or by rubbing lumbers.
(A) QSPR - (B) PQSR
(C) PQRS (D) QRSP~



87. 1. When the Impressionists

P. they made them look like
Q. everyday and often putting
K. pecple you would see

8. painted pictures of people

6. more emphasis on the scene.

[A) RGPS (By SEQP
(C) PRQGS {9{ SPEQ
Sherlock Holmes is the

P. whoisin a state of grace

. Q. liraiser o the status
K. because in him scientific curiosity
S. exceptional individual

6. of a heroic passion,

{A) PRGS (B} SRQP
(C) SPRQ (D) RP3Q
89, 1. The goals of our present system

P. sachooling is to prepare
Q. students for the examination system
R. which will take them to the
S. of primary and secondary
6. best technical institutions in the country.
{B) QFRS
(D) PSQR

(&) SPQR
{C) PRQS
.CD 2013/Page 16

Egotism is the most common fault of
P. However, with time it becomes an
exagperated form of self display,

Q. It is the product of a perfectly
natural desire to display oneself,

B. This is necessary as it impairs the
personality and frustrates all efforts
at self improvement.

5. Deyond any shadow of doubt, it is a
defect that ought to be constantly
hunted down, and scotched.

6. One should always be on guard not to
give into egotism.

(A) RSPQ
(C) PQRS

Directions @ In guestions no. 91

(B) PSRQ
(D) QPSR

to 95 in the

| following pussage some of the words have been left

out. Read fthe passage carefully gnd choose the
correct answer fo eqch gquestion out of the four
alternatives and fill i the blanks.

One fine morning a 91 man knocked at the
doors of the home for the aged run by nuns. He told
the nun in charge that as he was 82  to Delhi, he
wanted to leave his servant-maid to the 53 of the
nuns. He assured the nun of zending some
money m'erjrl month 94  she was an orphan. 'I‘h,eﬁ

nun 95 her saying that she had got an excellent
master.

1. (A gentle (B) bad
(C) mice (D) good
92. (A) moved (BY shifted |
| (C) changed (DY transferred j
93. (A) care (B) home |
M custody (D) protection :
94, @J’ because (B) and 3
(C1 though- (D) if
95. (A] loved J;Bf praised 1
(C) consoled (D} condoled
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Directions In questions no. 96 to 100, you have @

rief passage with 5 guestions following the
P.Me‘ Read the passage carefully and choose the
pest answer o each question out of the four
.:;Iterrmﬁves and mark it by blockening the
appropriate oval (@) in the Answer Sheet.

Freedom has assuredly given us a new status
and new oppartunities. But it also implies that we
gelfishness, loziness and all
narrowness of outlook. Our freadom suggests toil
and ereation of new values for old ones. We should

so discipline ourselves as to be able to discharge our

new reéalj-unsibi}ij_:i‘e%_ satisfactorily. If there is any

 one thing that needs 1o be stressed mbre, than any

' pther in the new set-up, it is that we should put

1

: into action our full capacity, each one of us in

productive effort — each one of us in his own sphere,

| however humble. Work, unceasing work, should

now be our watch-word. Work is wealth, and service
is happiness. Nothing else is. The greatest crime in
India today is idleness. If we -ruut out idlenass, ﬂ]
our difficulties, inﬂluding_ even conflicts, will

gradually disappear.

96. Anyvone can free himself from the clutches of
difficulties, if he

(A) eliminates narrow outlook
(B} fulfils his responsihilities
(C) discards idleness

(D) discharges his obligations
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L 97,

100,

What has freedom und&niabljr offered to the
citizens of India 7

(A} New opportunities
(B) New outlook
() New responsibilities

(D] MNew values

One thing needs to be stressed more than
anything else in this new set-up. It is that
people should

(A} discard narrowness of outlook
(B) diseipline themselves suitably
() mrk to their full capacity

(D) substitute old values with new ones

work should be the motto of our

citizens.

{A)} Resourceful
(B) Incessant

(c) P;éductive

(D) Ingenious

Mothing else can give us joy except
{A) service

(B) idleness

(C) wealth

(I freedom



101.

102.

10’31-

104.

105.

106.

{A) Thameter of cylinder < Diameter of cone-

PART 111 : QUANTITATIVE APTITUDE

5 cosec 23° cot? 67° - sin® 23° - sin” 67° -

mt” B7"
13 equal to
(A) 0 ® 1
(C) sec” 23° (D) tan® 23°

The base of a right pyramid 1s an equilateral
triangle of side 103 cm. If the total surface
area of the pyranid is 27043 sq. em, its

107.

height is
(A) 12cm (B) 1243 em
(C) 10em m)/m\fﬁ em

The volumes of a cylinder and a cone are in
the ratio 3 : 1. Find their diameters and then
compare them when their heights are equal.

(B) Diameter of cylinder = 2 times of
diameter of cone

(C) Diameter of cylinder = Diameter of cone
(D) Diameter of cylinder » Diameter of cone

A sguare of side 3 cm iz cub off from each
corner of a rectangular sheet of length 24 cm
and breadth 18 cm and the remaining sheet is
folded to form an open rectangular box. The
surface area of the box is

: o
[A) 423 cm (B} 468 cm 1':{11\
(C) 396 cm® (D) 612cm’ N

M
‘The sides of a triangle are 16 cm, 12 em a:g/
o e, Find the area. ‘(’f
(A) 8lem® (B) 64cm’ 'y
A
(©) 112 em® (D) %6 cm” Vi
h\l.

What is the height of 2 cylinder that has the
same volume and radius as a sphere of
diameter 12 cm ? '

(& 8cm (B) 7em z

'\\-u-"

108.

(C) 10 em (D) 9em

() 5(43 +Lm

108,

110.

The length of the shadew of a vertical tower
or. level ground increases by 10 nietres when
the altitude of the sun changes from 45° tojg
30°. Then the height of the tower is

(A) 1043 m

(© 103 +0m

Fsinl — Scos B

it 5tang =4, thn —————2 1
Sein® + 2eos

equal to

! 1 . e

{A) E (B} E

s 1 - ' 1

Q) — - m =

(Cy 3 (D =

¥ xsinB-ysinb= ,.{x_zﬂ'ﬂ and

2 .-
1
m26+$m29 = =3 then the correct
a b Yy
relation is
2 8
X ¥
A) —-—F=-=1
a b? ]_p:ﬂ
b 2
o P e,
Bt al
2z 2
T e |
a® h?
4 2
D) =—+ % =1
Be a®

If 2 (cos’8— sin® B) = 1 (85 a positive 2
angle), then cot 6 is equalto

(A 3 (B) -3
© ?lg: O 1
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o -}__
= -y
!
111. Number of solutions of the twe equations
4x~y=2 and Zy-Bx+4=0

18

A& mfinitely many Do 8
R e ey A F
~ {B}rero— oF /%ﬁ'
%
ACY one P
L q_,a"lr\" . B 2N
.'5\“?: () two ﬁf G";"J\
Lt wh e
E qjﬁ. . R P il
U112, If a®+h*+e"=2(a-b-0-3 1antlg'<_a
i valueof 2a —3b + 4c is \-Qf o
3 (A) 1 By 7 o A
¥ e ;m‘i V‘_b
et (C) 2 (D) 3 [ A
%% f"‘h‘ .3
’y AP
A 113, Let a= B - 45, b= 5 -2 c=2- 3.
Then point out the correct alternative among
_ the_fﬂ-ur_a!t_Eﬁ:ui_;iuBs_xgivgn below. _m‘ﬁ“‘:
iA) a<bee (B} b=a<c S
iC) a<c<h (D) bec<a
B 3 duet
114, If a= E—,thenthevalueaf‘a + b'Ris
-a
(A) 2 /{}3) Bab
C) 0 Dy 1 &
115, If xy + yz + zx =0, then
1 1 '
5 + = + 21 ](x_,_v,f,z#ﬂ}
-y ¥y - TN
. is egual to
(A} 0 (B3
5 L
cy 1 D) x+y+z S{_L”'
116. A ecan do a work in 20 days and B can do the

same work in 30 days. In how many days can
AL

A and B topether do the work ¥ '

oge e L
(A) 18 -(B) 18 Tg."
(C) 10 ﬂ 12

L q!-; tu'”\. ¥
L.y., *
1 z
{’.?_’, 3

117. The volume of air in a room is 204 m®, The
height of the room is 6 m. What iz the floor
area of the room ? '

(A) 34m’ (B) 32m*
(C} 46 m® (D) 44 m”

118, If the total surface ares of a cube is 96 cm”,
its volume is
(A) 98 cm® (B) 56em’
(C) 16em” (I 6t em®

119. From & point P, two tangents FA and PB are
drawn to a circle with centre Q. If OP is equal
to diameter of the circle, then & APB is
(A) 60° B d5°
(C) 90° () Ao

120. A chord 12 em long is drawn in a circle of

-» diameter 20 em. The glistahcé"ot‘ the chord
from the centre is

(A} 1B6em
{C} Bem

o B)

(D) 10 cm

121. 380 sq. ¢m and 250 sq. cm are the areas of
two similar triangles, I the length of one of
the sides of the first triangle be 8 cm, then
the length of the corresponding side of the

second triangle is

(A) 6em ®) 6 om

2

(C) ﬁ% cm o E-S- cIm

122. Ifin A ABC, ~ ABC =5 £ ACB and

#BAC =3 7/ ACB, then ~ABC =
(A} 120° (By 130°
iy & (D) 100°
123. The perpendiculars, drawn from the vertices

to the opposite sides of a triangle, meet at the
point whose name is

(A) orthocentre
(C)} circumecentre

{];} incentre
(D} centroid

.CD 2013/Page 20

SPACE FOR ROUGH WORK / T6 1 &

L
f- Lol

priset

q.

-




——

ﬂjﬁ'ﬁ

&g‘; : 'f-‘?

[

A

Ay ; EA/
n%" 124. A sum becomes ¥ 2,916 in 2 year 8% per

: annum  compound interest. The simple
interest at 9% per annum for 3 years on the
same amount will be

(A) ¥ 625
Gy %675

{B) ¥ 600
(D T 650

125. The average of 30 numbers is 40 and that of
other 40 numbers is 30. The average of all the

5 "]L/&;’l p%o 1:%’5)15'&
131. A train is moving at a s f 80 km/h and

covers a certain distance in 45 hours. The
speed of the train to cover thé aame distance

in 4 hours is
(4) 90 km/h (B} /100 km/h
(©) 70 km/h f 8 kmh

192, A shopkeeper blends two varieties of tea

costing T 18 and & 13 per 100 gm in the ratio

Tq;q: numbers is 7 - 4. He sells the blended variety al the rate
VA 9 of ¥ 18:15 per 100 gm. His percentage gain in
- (Y . (A) Jd-a EH-]' 34? : . the t_ransactinn lE
r’\ ‘5",\ (g)_/ 35 (D) 34 ?/ur.;,tﬁ“*f;b (MY 8% (Bl 10%
G fﬂ] 12% (D 14%
L LS

s

% ™ 426, The value of {40+ 881 -is

@h

133. A invests T 64,000 in a business. After few

months B joined him with T 48,000. At the .

4 11 (B) V111 0 . s ) il i
: Z e % end of year, the profit was divide
: (C) -EI L '[P: i ) \:J'C} : _ between them in the ratio 2 : 1. After how
v [:\'J ' " : many months did B join ?
L:ﬂ 127, The ratio of age of fwo boysis 5: 6. After two A 7 (R B
years the ratid will\pe 7 : B. The ratio of their ) 4 JEﬁ a
J ages after 12 years will be > 10 o 4
T (A) 13/12 (B) 22/24 7' g 134 Agot 30% concession on the label price of an
K 33-."'-"‘,/{:,_ - 44 e article sold for T 8,750 with: 25% profit on the
S oL (C) 15/16 o 1 T oW . ; :
/(;..{t #5 tL price he bought. The label price waz
He & M SEE B (A} ¥ 10,000 (B) ¥ 13,000
| 128. lefde EIJ into h:-ulpa.r‘rs Bp 1 at:'. e sum (©) F 16,000 (D) T 12,000 :
their remprr.'rcalg\ is 1/12. o
A ’ + . 7
S/ (A) 28,22 ® 35,15 /5 2 |185. The cost price of m book is ¥ 160. At what
2N (C) 20,30 (D) 24,96 ' of, price should it be sold to gain 20% 7
R (B) T 120
¢ 129, The length and breadth of a rectungle are & T 180 (I T 100
1;;’/. A, o doubled. Percentage increase in area is
:f}ﬁ 7 W/ 400% (B) 150% 136. 1f books bought at prices ranging from ¥ 150
/@E {P 20045 (D) 300% o ¥ 300 are sold at prices ranging from
) d F 950 to ¥ 350, what is the greatest possible
% 30, In the annual examination Mahuya got*10% profit that might be made in selling
% less marks than Supriyo in Mathematics. 15 books ? ? I .
Mahuya got 81 marks. The marks of Supriye L’,&J T 3,000 ﬁ‘?&f"iri;
are | {Bf Cannotbe determined
(A) 89 By 90 ) i©) %750 «F LLYS gl
. E”/ at - — e
ic) 87 (D) 88 Py T 4,250 : i N
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137, In a two-digit number, the digit at the unjt’ %442 L.OM. of E, i 5 5
place is 1 leea thE.l'j twice the digil aL the ten s 39 I“ﬁ?
place. If the thgﬂ:s at unit’s and ten’s plac—"‘ are (A) 20
interchanged, the difference between the new a7 e
and the original number is less than the o B\
original number by 20, The onginal number 3
is Tﬁ(‘"‘
(A) 47 (B} 58 i3 \,\ 143. Find the value of
. 1 3 _I.. L ,
© 23 (D) 35 P A YT Bed B3
b &
.-"!Pl'l
138. The base of a right prism is a triangle whose e {'(;ﬁ"?k
perimeter is 28 cm and the inradius of the (B) 3 - J\ﬁ " B X
£ . -
triangle is 4 cm. If the volume of the prism is © 3 K ::,
366 ce, then its height is 243 +3) qﬁ :
W dem o6 Som D) 243 e g
(C) 6cm (D) None.of these / _
g 144, ‘a' divides 228 leaving a remamder 1B. The
139. The eguation cos” § = E‘-‘% ig only biggest two- dlglhalue of 'a’is WA
i {A) 30 (B} 70 T
possible when . & ,Hi
(&) x<¥y (B) x=-y ey 21 @,/r: ~ (D) 35 ﬂ’
{‘3 i:'h 'I\_t“ "k -
C) x>y (D) x=¥ ﬁ\!} =N
] 145. If the sum of the digits of any integer lying
140. Which is greater 32 or ¥3 7 qu’ between 100 and 1000 is subtracted fr_i:m the
; ' t It always i
(A) Equal % -;ﬁ.g]le numhber, the result always 13 \ ‘}g
(B) Cannot be compared ﬁt\\{ ) eelia 4 3t (2 {é‘ﬂ
/gcx/(/g (B) divisibleby 6 3% ¥* ﬁ
ic) ¥2 ™ /J;, v
. -l © divisiblebyz  {e (g0 L
D) V3 i o A& e
Ly (D divisible by 9 _ﬁ’fg‘
<% I3
141, If a +b + ¢ =9 (where a, b, ¢ are real 1 .
S 146. If a number is as much greater than 31 as it
numbers), then the minimum wvalue of _
- s R is less than 75, then the numberis ¢
a“+b +¢" is q!
E) 106
&) 81 ®), 100 W), = )
(C) 44 (D) 74
© 9 @ 7
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Directions : The bar graph shows the marks
obtained by o student in an examination out of
100 marks in cach subject. Study the diagram and
answer the §. Nos. 147 and 148.

100 5
80
=1
G-
504
40
30
20
10

Marks

History
English
Geography
Hindi

Maths

. The average marks of Hindi and English iz
(&) 60 ° (B) 85°
(©) 50 ofss s

R
& ratin of the marks of Maths and History

(B) 6:5 I\"r(-,_\:&@

(o 3:4

Lz’f} 4:3

(Cy B:5

Directions : Various expenditures incu

publishing company for publishing e book in [}

are given below. Study the chart and answer the

Q. Nos, 149 and 150.

3

\¥

rﬁ'n

& |
LN R

149. Royalty of a book is less than the printing cost

by

(A 20% (B 25%

) ) 1

i) 5% D 33=-%
@ 3

150. Price of a book is 20% above cost price. If the

marked price is T 180, then the cost of paper
for a single copy, in ¥, 18

(B) 44-25

(D 22-A0

(A) 42
iC) 36
2

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

147. The difference between the circumfersnce and
the radius of & circle js &7 em. The area of the

cirele is (Take ® = E??— ]

(A) 154 8q em “(B} 250 sy. cm

(C)} 148 sq. em (D} 111sg.cm

If tant @ —sin® 6 =3, then the value of
tar{3 2] sin® B is
&) x
()

148.

(By 2
(o 1

149. If x—y =1, then x’ -y’ -3 (xy - 2) is equal
+ .
(A 7 (B) 6
(€ 10 D) 4

150. Ram’s income is greater than Shyam’s income
by 20%. Then the percent by which Shyam’s

. income i3 less than Ram’s income is

2 2

L e B =
(Al 16 3 (B) 18 =
1 R

(C) 10 E (o 12 3
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PART IV : GENERAL AWARENESS

151. How many members can be nominated to | 157. The basic object of all production is Lo
both the Houses of the Parliament by the

(A) increase physical output

President ?
U( : (B) satisfy human wants
) 14 (B) 16 ;
(C) provide employment
() 10 (D) 12

(D) make profits

152. Under which Article of the Constitution can | 158, Inflation is caused by
an individual move to the Supreme Court

- i (A) decrease in production
directly in case of any violation of ; e

Fundamental Rights ? {B) increase in money supply and decrease '
in production
(A) Article 31 {(B) Article 32 (C) increase in money supply

(C) Article 28 (D) Article 29 . (D} increase in production .

153. The Dandi March l}ff}andhiis-an example of 159. Dumping is a form of price discrimination at
y@l Non-Coopefatisn ' _ " ™A) local level
A e g
() mnational level

(D) international level

(C) Boycott

(D) Civil Disobedience
160. The equilibrium of a firm under perfect

164, Presidential form of government consists of competition will be determined when
the following :- (A) Marginal Cost > Average Cost -
(A) Popular election of the President (B) Marginal Revenue > Average Cost
' (B) No overlap in membership between the (C) Marginal Revenue > Average Revenue :
expcutive and the leg;i_ﬂlature

(D) Marginal Revenue = Marginal Cost
(C) Fixed term of office :

; 4 161. Expenditure on advertisement and public
’@} All the above 5

relations by an enterprise is a part of its

155. Which one of the following inscriptions relate (A} fixed capital

to the Chalukya king, Pulakesin 117 (B) consumption of fixed capital

{A) Nasik (B) Maski (C) final consumption expenditure

(C) Hathigumpha (D) Aihole (D) intermediate eonsumption
' W e ] 162. The concept of Coneurrent List in Indian 8
156. Who E.II!.DII_g the f:huwmg introduced the Constitution 15 borrowed  from  the :

anaahdari system Constitution.of
(A) Jghfmgir (B) Shah Jahan (A) USA. (B) Japan _
{C) Sher Shah (D) Akbar (C} Canada (D) Australia
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163.

164.

165,

166,

167.

168,

Match correctly the following deserts and |

their location by choosing the correct
response

De-aerr Location
a. Kalahari 1. South America
b, Atacama 2. Australia
¢. Thar. 3. Alfrica

d. GreatVictoria 4. -Asia
LA a-3,b1,e4,d2
(B} a2 b3, cl,d4
() a-4,b-3,e24d1

(I} a-3,b-2,¢c-1, d-4

What is a neuron ?

(A} Basic unit af nervous system

{B) Basic unit of energy- :

(C) Particle released during radmamwty
(D) The anti-particle of neutron

A cellulosic wall is fourd in the cells of

(A} plants

(B) animals

(C) bacteria

(D) fungi

The filtration unit of kidney is

{A) wyellow fiber {(B) axon

(C)} nephron (D] neuron

Tha nutritive tissue in the seeds of higher

plants is known as
(A) nuecellus
(C) embryo

{B) hypocotyl

(I endosperm

Yeast is an important source of ‘
(A) protein
(C) invertase

(B) vitamin B
(D) vitamin C
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169. Which one of the following cities and the

170.

171.
" (A) Treaty of St. Germain

172

173.

174,

175.

_persona lities

(B} Pondicherry -

associated  with  their
establishment is wrongly matched ?

(A) Calcutta — Robert Clive

Francis Martin

(C) Ahmedabad - Ahmad Shah I

{P}’ Madras - Francis Day

Which one of the following wars decided the
fate of the French in India ?

{A) Battle of Plassey

(B) Battle of Wandiwash

(C) First Carnatic War

(D) Battle of Buxar

The Crimean War came to an end by the
(B) Treaty of Trianon

(C) Mreaty of Versailles

{D) Treaty of Paris -

The longest river of peninsular India is

{A) Godavari (B1 Erishna
(C) Eaveri (D} Marmada

Meraines are formed in
(&} Monsgoon region
(B) River deltas

() Arid regions

(D) Glacial regions
The Himalayan mountain range 15 an
example of

(4) Fold mountain
(B) Voleanic mountain
{C) Residual mountain
(D) Block mountain

Which one of the following is a warm ocean
current ? ;

(A) Gulf Stream (B) Kurile

(C) Canary (D) Labrador




176.

177.

178,

179.

- (C) Carbohydrates™ (D) Proteins

180.

181.

A nibble is equal to bits.

{A) 16 (B) 32

€ 4 i 8

In HTML, tags consists of keywords enclosed

within

{A) flower brackets { |
(B} angular brackets < >
(C) parentheses{)

(D) square brackets [}

printer cannot print more than
one character at a time.

{A) Line (B) Daisy-wheel
{C) Laser (D) Dot-matrix
Enzymes are o

(A), Lipids (B) Sternids

Heating of a ore below its melting point in the
absence of air is known as

(A} Smelting

(B) Refining

{C} Caleination

(D) Roasting

The most electronegative element among the
~ following is
{A) Oxygen (B} Fluorine

182,

183.

(C) Sodium {D) Chlerine

Mark the compound which possesses ionic,
covalent and co-ordinate bonds.

{a) HO (B) NH,CL

(C) &0y (D) 80

The depletion of Ozone layer is mainly due to
(A} Chlorofluorocarbons

(B) Volcanic eruptions

{C) Aviation fuels

(D) Badioactive rays
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184,

185.

186.

187.

Mateh correctly the infectious agents given in
List I with the diseases caused by them given
in List IL :

List I List IT
a. Bacterium - 1. Kala-azar
b. Fungus 9. Tuberculosis
¢, Protozoan 3. Influenza
d.  Wirus - 4. Ringworm

IA) a-4,b-2, 03,41
(B) a-1,b-2,c-4,d-3
(C) a-2,b-4 c1,d-3
(D) a-3,b-1,c-2,d-4

Matter waves are

{A) Longitudinal waves

(B) de Broglie waves

{C) Electromagnetic waves i
(D} Transverse waves

When the milk is churned vigorously the-
cream from it is separated out due to

(A) Centrifugal force
(B) Centripetal force
(C) Gravitational force
iD) Frictional force

(ias thermometers are more sensitive than
the liquid thermometers because the gases

(A) have high specific heat

(By have large coefficient of expansion
(C) are lighter

,(rD‘)I have low specific heat

188. Which of the following is nof cansed by

atmospheric refraction of light ?

(A) Sun becoming visible ftwo or three

minutes before actual sunrise
(B) Sun appearing red at sunset
(C) Twinkling of stars at night

(D) Sun appearing higher in the sky than it
actually is




188.

190.

181

192,

193.

Minorities Rights Day is observed in India on
(A} 18%™ December (B 237 December
(C) 5t September (D) 1% Decemter
Which one of the following institutes in

List 1 is wrongly matched with its location
indicated in List II 7

List I ListII

{A) Central Institute of Mining Dhanbad
and Fuel Research |

(B) Central Building Research Hoorkee
Institute

(C) Central Arid Zone Jodhpur
Reszearch Institute

(D) Central Drug Research Kanpur
Institute

Match the twao lists given below ;

., Listl Tar List I~

a-* London 17 St Petex’s Square

b, Vatican City 9. Times Square

c. Moscow 3. Trafalgar Square

d. New York 4. TRed Square

(A) a-1,b3,c2,d4
(B) a-2 b-4,c-3,d1
(C) a-3,b-1,c-4,d-2
D) a4, b2c1,d43

Who among -the following women tennis
players has won the Grand Slam titles for the
maximum number of times ?

{(A) Serena Williams

(B) Venus Williams

(C) Steffi Graf

(D} Margaret Court

In which one of the following films did Pran
act as a character artist and not in the role of
a villain 7

(A) Himalaya Ki Godh Mein

(B) Ram aur Shyaem

(C) Zanjeer

(D) Madhumat
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194.

The main advantage of Rain Water
Harvesting (RWH) is

(A} Avoid soil erosion

(B) Recharge ground water

(C) Avaid floods

(D) Reduce the loss of water

195. The waste generated by end life personal

196.

197.

198.

199,

(A) Tripura

pomputers is known as
4) E-waste (B} PC-waste
(C) Physical waste (D) Computer waste

Who was the first posthumous recipient of
Bharat Ratna 7

(A] M.G.Ramachandran

(B) BR. Ambedker

(C). E, Kamraj

(D) Lal Bahadur Shastri

Which country won the-'-Il_'JC Women's World .

Cup held in February 2013 ?
(A} India iB) New Zealand
(C) England M) Australia

Which country’s currency is Ngultrum ?
(Al Bhutan (B) Laos
(¢! Bangladesh (D} Nepal

“Sattriva Nritya” recognised as a classical

‘dance form of India by the Sangeet Natak

Akademi only in 2000, originated from

(B) Assam

(C) Karnataka (D) Gujarat

Given below are pairs of the winners and the

specific categories pertaining to the 140

[nternational Indian Film Academy (ITFA)

Awards. Which one of the pairs is wrongly

matched ?

(A) Best Film - Agneepath

(B] Best Actor in a negative role — Rishi
Kapoor

(C) Best Actor - Ranbir Kapoor

(D) Best Female Actor - Vidya Balan

192



| GENERAL INTELLIGENCE

Directions (1 - 7) : In the
following qusetions sclect the
related letters/word/ number from
the given alternatives.

1. Smoke : Pollution :: War : 2

(1) Treaty (2] Destruction

[3) Peace (4) Victory
2.12:30:18:2

(1) 44 (2) 45

(3) 38 (4) 42
3.85:4077:2

(1 49 12) 50

(3) 14 (4) 48

4. KNQT : LORU :: ADGJ : 2
(1) DGEF  (2) MPVW
(3 BEHK (4) FHLO

5. DRIVEN : NEVIRD : : BEGUM
2

(1) EBGMU (2) MUGEB
(3) MEUBG (4) BGMUE
6. Smell ;: Flower :: Taste : 2
(1) Food (2) Sweet
(3) Water (4] Salt
7. Introvert : Extrovert :: 2
(1) Agatnst : Favour
(2) Action : Law
(3} Angle : Tangent
(4) Extreme : Interim
Directions (8 - 11) : In the
following questions, find the odd
letters /words /number pair from the
given alternatives.
8. (1) Plateau (2} Plane
(3) Mountain (4) Hill
8.(1) 48-68 (2)71-87
13 5-21 (4)29-45
10. (1) EHIK (2) LNOQ
(3) TWXZ (4) ADEG
11. (1) Across : Along
{2) Small : Large
(3) Day : Naght
{4) Up : Down

12. Which one set of letters when
sequentially placed at the
£aps in the given letier series
shall complete it?

be_bea_cab_ab_a_ca
(1) abec  (2) cabea
(3) abcab (4] cabac

13, In the following letter serfes,
how many B C N oceur in such
away. that C 1s in the middle
and B and N are on any one
aide?
BCMXNCXNEXNCEBNCE
YBCXNBCNABONMZCB
ms 213
(3] 4 42

14. Find out the set among the
four sets which is like the glven
aet,

Given setis (6:12:18)

(1) (& :20:28)

(2) (30: 36 : 42)

(3) (4:8: 14)

(4) (12:24: 35]

16.Which one of the given

responses would be a

meaningful order of the

fallowing in ascending order?

1. Sending 2. Encoding

3 Receiving 4. Decoding

(1) 1,2,3. 4 ()2, 1,5. 4

3] 2,4.3,1 (44,2,1,3

18. Arrange the following words as

per order in the English

dictionary -

1. Important

2. Impart

3. Improvise

4. Improve

(1) 5,4,1,2 (5)2:1,3.4

(@ 1,2,3,4 (492,1,4,3

Directions {17-18) : In the
following questions, a series is
given, with one term missing.
Choose the correct alternative from
the given ones that will complete the
series.

17.3,9, 6, 36, 30, 2.

(1) 950 (2] 400

(3) 80O (4) 800
18, DKY. FJW, HIU, JHS, 2.

(1) KGR (2) KFR

2) LFg (4) LOQ
19, 7,8, 11, 15,23,

(1) &7 (2) 40

(3} 31 (4] 32
20. If B= 2. BAG = 10. then BOX

=?

(1) 41 (2) 52

(3] 36 {4) 39

21, If DISC s coded as 8748 and
ACHE is coded as 3950, then
HEAD 1s coded as
(1} 3508 (2) 3805
(3 5038 (1) 5308

22. IfJanuary 1st is a Friday, what
is the first day of the month of
March, ina leap year?

(1} Thursday (2] Friday
(3] Tuesday . (4) Wednesday

23. Barun is taller than Sanjay.

Bipul is taller than Barun,
1s also not as tall as

Bipul, but is taller than

Barun. Who is the tallest?

(1) Krishna (2] Sanjay

[3) Barun (4] Bipul

24. Rajan Is younger than his
father by 20 years, § years ago
his father was 3 Umes clder
than him. Find the present
age of his father,

1) 35 years  |2) 36 years
13) 25 years  {4)30 years

25. Sunitais the | Lth from either
end of a row of girls. How
many girls-are there in that
Tow?

1] 21 12)22
3) 18 (4) 20

26. A man sald to a woman, “The
only son of your brother, is the
brother of my wife.” How 1s
that woman related 1o the wile
of that man?



a9, Atnbdrthdaypﬂty 5 friends

(1) Mother e Directions (33-34) : In the
—{2) Grandmother Hiowing o sitting-in-a-row. ‘M- is-(a
| 3/(3) Anut ' (4)Sister ¢ o4 Gsolved on the basis of A W“’W"ﬂ’
/27, Some “mmm_mm { ﬂ : ﬁ‘ righ
i below in the first line'and_ | ct -f’[ﬂu unsolved .1 .'!Mln!q
e o aaay 1- tu amm...— f
i.'\"nr them in_ the second lines ﬂnfﬂ‘m" i P i ¢
2 ITVIE 4TAL Op 3
‘The numbers are the codes for ‘Bx4x8=584 ; 3™ <40
the letters and vice-versa. TIY R8T T T TN TR, One nta’"ﬁhent is” given,
[M]O[E[A[S[J[T]Z] mas . @i1% followed by two conel 1
3[5(7]612/91410] (3) 123 (4) 291 n&:! L Ynfg;ﬂltmmnsidn TE
34.11526=9 ~statemen true, even if it
Choose the correct number seems to be at varance fros
;:;de for the given set of and 834 =9, then commonly known facts. Yur:
ters. 716="7 have to decide which of the
EAST mnse 2y 12 given conclusions, 1f any, follow
(1) 7624 (2) 7625 3122 4) 15 fram the given statement.
(a3) 7ez0 (4) 7623 85, One morning Meena started Indicate your answer.
28, From the given alternatives walking tmxnhn?é Statement :
select the word which can be After walking a Medals are awards
Formed uairg this et tumed towards her left and 1
Rigoerc e again towards her left After e o
R walking a while, she turmead 1. All awards arc not medals,
{1] GPINION Blﬂ-m] lefl. in which direction is she II. All medals received are
(3) OPEN  (4) OFIUM St e i
Bo: it 5 (1) West (2] South 1 E::Ili'lwcmclnmlanﬂ I and 11
select the word which cannot i i (2) Neither
e el 'of | 38.Vgay starts wallang straight e conclusion | nor [1
the given word. towards S
PN metres he hums to the lef and (3] Only conclusion [ follows
i s i walies 25 metres [4) Only conclusion 1 lollows
{2) NAME he turns to the left and walls | 41. Which of the conclusions can
{3) MINT (4) PEST a distance of 40 metres be drawn from the given
30. In a certain code ‘CALANDER Again he tums to the statements?
Is written as 'CLANAEDR'. left and walks a distance of 25 Statemen
How is ‘CIRCULAR’ written in metres. How far is he fram the e
that code? starting paint? All the:students in my class
(1) CRIUCLRA (1} 50 metres are intelligent.
(2) CRIARLCU @ 35 Kaushik is not intelligent.
(3) ICCRLURA 3 140 metres {1) Kaushik is not a student
(4] CRIUCALR {2) 115 metres 0: n;yu class.
 Directions (31-32) ¢ In the | 57, Select the correct combination @ - ”,‘]:“’ tf“‘" R Rlcarc
ollowing questions. select the of mathematical aigns t 0
nissing number from the given e E ; o 13) Some students are not
Mg replac signs and to Intelligent.
si.es 7 a m_’“.m.‘:t?::;mum' {4) Non-intelligent are not
a0 5 5 students
il = 2 M=s=-+ [Z++mx 42, A machine which cuts a ribbon
(1) @2 a?,,, () =++- ;nlopmces of 10 metres L.EIJIE'M
bl ) 5 a&hm:mmua o seconds to make a singiec
frg i - means o | S e o il ke o
 means ‘divide’, sornpletely cut into pieces a
24 20 10 : hen ribbon 3 km long?
T | a 10x5£3-2+43=7
3 (1) 1794 seconds
12 5 ? L) (2) 28 (2) 1800 seconds
(1) 20 @5 lﬂ‘ 53 (3) 174 seconds
3 10 (4) 15 ’ 15 iy A (4) 180 seconds




43.Select the fgure which is
different from the rest three.

S s

mn (2 3 (4)

44.Choose the alternative from
the given ones that will

complete the series.
Question Figures :

B a0/ 64| 2

Answer Figures :

SIES
(1] 2 3 4

4B. Select the related figure from
the given alternatives.,

P>

(3 2 ) 3

48. ldentify the diagram that best
represents the relationship

among the classes given below:
TEA, COFFEE, DRINK

0D »@
IS} I*ll

48. A piece of paper is folded and
cut/punched as shown below

¥ T R L e

[evctsrtanciace ]

Dl.tul:h_ru._ﬂl - m : In the
following questions, some parts of

Ber of that part is your answer. If a
sentence is free from errar, then your
answer s (4), L.¢. No Error.

B1. She regards (1)/ negotiatng
prices with customers (2)/ as
her special expertise. (3)/ No
error (4]

82, The police is investigating (1)/
for the recent happening (2)/
in the area. (3)/ No error (4)

53. The redevelopment project is
aimed (1}/ not just providing
good houses to shanty dwell-
ers, (2)/but also developing
infrastructure around the ma-
jor Mumbai localities, (3)/ No
error (4)

B4. Unless he apalogizes 1)/ he

hould not be (2)/ allowed to
st in the question figures. From s
Question Figure {he. dimets aritnins bt o slay with us. [3)/ No error [4)
* ] indicate how it will appear | 5% L;er'n:'_: g;“::“r:;“ “f;;"'m‘;:
. . -
'E.EDE P O ? ‘ when opened. to the market. (3)/ No error {4)
Guestion Figures : Directions (56-60) : In the fol-
A lowing questions, sentences are giv-
RN XL geoa ANlem en with blanks Lo be filled tn with
an appropriate word(s), Four alter-
natives are suggested for cach ques-
*I:Cﬂ @ ¥ @ ‘ Answer Figures : tion. Choose the correct alternative
. | out of the four as your answer,
] 2 13} 4 H ¥ B6. Internet cafe owners fear that
46. Which answer figure will | |© i Q a police crackdown may cause
complete the pattern in the > — ige to thedr business.
question figure? mn (2 3 {4 (1} irreparable
Question Pigure : BO. From the given answer figures, (2] eternal
= select the one in which the (3) untold {4} reparable
! question figure is hidden/ 57. We heard that the Richards
o a0 embedded, their house recently.
- (1) will shift (2) are shifting
25 YN U (3) had shifted
(4) have shifted
Answer Figures : 58. The more he remonstrated
the referee the worse
‘:a ‘%‘ ‘r‘-"v_‘ 3 the situation became.
%y 5 | BA Answer Figures : (1) with 12) for
eS| Bt 3 at @ to
1 2) (3F

47. Select the missing number

X

from the given resp

g9

m

58, Our teacher encouraged
setting the poem to music,
(1] he (2) he's

(3) his (4) him



614
(1) Ad

(1) speaking sadly
(2) speaking sharply
(3) speaking kindly
(4) speaking cheerfully
69, After getting a severe seolding
from his mother, Raghu got
down to business.
(1) began to work seriously
(2] joined his father's husiness
(3) started a busincss.
(4] became businesslike

{2) Hi
* {3) Reason  (4) Warning
B2.
(1)Greedy  (2) Extravagant
[3) Economical
[4) Compassionate
Directions (83-64) : In the fol-
lowing questions, choose the word
opposite in meaning to the Blven
word as your answer.
83, Dynamic
(1) Static
(3) Strange
84, Stability
(1) Opposition
(2) Carelessness
(3) Disparity
(4) Inconsistency
Directions (65 Eam H mfow:
following questions, there are four
different words out of which only one
‘word is correctly spelt. Find the cor-
rectly spelt word as your answer.
66. (1) Intermitantly

%

(2) Stupid
(4) Stout

66. (1) Coleegue (2) Coligue
(3) Coleague (4) Colleague
Directions (87-689): In the fol-
owing q 18, four al
given for the Idiom /Phrase print-
in bold in the sentence. Choose
alternative which best expresses
meantng of the Idiom/Phrase as
answer,

67. Theyoung servant goes about
‘with the old master,

tions (70 - 72) : In the

: following questions, out of the four

alternatives choose the one which
can be substituted for the given
words/sentence.
70. An assembly of worshippers
(1) Conflguration

71. A person who lives by himself
(1) Extrovert (2) Prophet
3) Monk (#) Recluse
72. A medicine to nullify the effect
of poison

(1) Antidote  (2) Anticlimax

(3) Antibody  (4) Antigen

Direetions (73-74) : In the fol-
lowing questions, a part of the sen-
tence is printed In bold. Below are
given alternatives to the bold part at
(1), (2}, (3) which may improve the
sentence. Choose the correel alter-
native. In case no improvement is
needed, your answer is (4],

73. Complete (he formalities of
registration of the workshop
before you enter the hall.

(1) formalities to register for

(2) formalities to registering for

(3) ;’nn'nalltleu of registration
or

(4) No improvement.

74. Ifa man rematns as careful as
he is in the s there
will be no fatlure,

(1) he was in the beginning
(2) he in the beginning
(3) he at the beginning

(1) tries to know more about

(2] adjusts well

(3) moves around
s.[allmu.mmd

The mather was tin giv-
h‘lmﬁhﬂﬂ:‘i’nﬂ {o the
daughter.

{4) No improvernent
Directions (75-78) : In the fol-
lowing questions, a sentence has
been given in Active/Passive Voice,
Qut of the four alternatives sug-
gested, sclect the one which best ex-
presscs the same sentence in Passive
[Active Volce,

78. A freah bateh of eggs was cal-
lected by the farmer's wile,

(1) The farmer’s wife had col-

lected a fresh batch of eggs,

[2) The farmer's wife will be

collecting a fresh batch of

18) The farmer's wife was cal-
lecting a fresh batch of

eggs,

(4} The farmer's wife collected
afresh batch of eggs.

78. 1 shall have written the letter.

(1) The letter is being written

by me.

21 The letter will have been
written by me.

(3] The letter will be written by
me.

(4] The letter has been writien
by me.

F7. Then her face was bowed,

(1) Then she bowed her face,
{2} Then her face has been
Bowed

(3] Then she was being bowed
her face.
(4) Her face was bowed by

then.
78. The walls had not been deco-
rated by us.
[1} We have not decorated the
walls.
[2) We had not decorated the
walls,
(3] We have not been decorat-
ing the walls.
(4] We had not been decorat-
ing the walls.
79. We must endure what we can-
not cure.
(1) What eannot cured must
endured.
(2) What could be cure must
be endured.

(3) What we cure must be en-

dured.

{4) What cannot be cured must

be endured.

Directions (80-84) : In the
following questions, a sentence has
been given in Direct/Indirect, Out of
the four alternatives suggested, se-
lect the ong which best expresses the
same sentence in [ndireet /Direct.
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(1) Suvesh said to Prasid, “Did ||
you watched the orjcket
rngu:l;l on television last

night?"

(2) Suresh asked Prasad, Did
you watch the cricket
match on television previ-
ouis night?”

(3) Suresh asked Prasad, “Have
you watched the cricket
match on television last
night?”

(4) Suresh sald toPrasad, "Did
you watch the cricket
match on television last
night?”

Bl1.Father said to me, "You are

Idling away your time.”

(1) Fother told me that yond
were idling away your Hme.

(2) Father told me that 1 was

idling away my time.

(3 Father told me that [ am
tdling away my time,

{4) Father told me that you are
Idling away your time,

B2, The eaptain said (o 'his men,

“Fall into line.”

(1) The captain said to his men
thai they can fall into line,

(2] The captain commanded
his men to fall mto line,

(3] The captain warned his
men to fall into line.

[4) The captain told his men
that they should fall into
line,

83. The priest said, “May'God par-

don this stnner 1

(1) The priest prayed that God
wotld pardon this sinner,

12) The priest prayed that God
might pardon that sinner,

(3 The priest prayed if God will
pardon that sinner,

(4) The priest sald that God
might pardon the stnner.

84. Ashrmita advised me to go and
see a doctor.

(1) "Shouldn't you

gl 'l?i

a doctor 7 mw“:{ahmta I

'Yuuplll‘m-lﬂﬁ m'u

& ...-a.

Directions (85-0): In the fol-

lowing questions, the 1st and the
last Pu‘ntenm of the passage/ Dm

|of the sentence are numbered 1 and

6. The rest of the passage,/sentence

'is split into four parts and named

F. Q. R and S. These four parts are
not given in their proper order. Read
the passage/sentence and find out
which of the four combinations is
correct. Then find the correct an-
Bwer,
©88. 1. The first illness 1 read
about was cholera.

I sat for a while, too nght-
ened Lo move,

| came to malaria.

As T read the st of symp-
toms, it seemed to me that
perhaps | had cholera, my-

sell,

Then, in a kind of dream, |
started to turn the pages of

70

. Yes, there was no deubt
about it — I had malaria
oo,

(1) RPSQ (2) PQSR
13) SPQR (1) QSPR

86. 1. Lata was caught in a traf.

fic jam.

P. Would she really have to
miss the interview 7

Q. Bul the vehicles on either
side looked as mnugh thcy
would be there forev

R. The reason was Lhat she
was due to appear for an
Interview In less than half-
an-hour,

5. 5he was fretting : she could
not afford to be late,

6. Or, worse — would she ar-
rive late and create a bad
first impression ?

(1) RSQP (2) RSPQ

(3)SREP  (4) SRPQ

B7.1. When you are debating

whether to

P. but also helps you stay

N

m.mﬂ*””

S. ramumhar Rha‘t ukin.g a

long awalk

8. calm and relaxed.
(1)RP@S (2) @SRP
(3)8RFQ (4] QRSP

88.1. The enzymes in washing
powder

P. making them able to survive

Q. come from bacteria

R. to live in hot springs

S. that have evolved

6. the rigours of the hot cycle.

(1) PUSR  (2) QSRP

(3 SQRP (4] QSPR

89. 1. The lion used Lo be very
widely distributed in Africa
and Asia,

P. There are special [orest
zomes sel aside for wild-life
n various countries,

Q. Indiscriminate killing has
caused the number to fall.

R. Today they are g relatively
rare specles.

5. I the species survives at
all, it will be only in na-
tonal parks,

6. No hunting is permitted in
such reserved arcas.

(1) RQSP (2) SRPQ

13) RSPQ (4) QSFR

90. 1. After the tornado had hit |

the coastal areas,

my house was gone,

I became & pauper over-

night

- my felds were completely
destroyed,

. my livestock was lost and

i though my neighbour's
house remained un-
touched,

(1) QRPS

(3) RPQS

P
Q.

=

o

(2) PRSQ

[4) sQPR
Directions (81-96) : In the ol

lowing questions, in the followin,

paqugumnenl'th:mhavebwﬂ'

left out. Read the passage careful

each question out of the four alter
natives and fill in the blanks,

|
|
[
|
and choose the correct answer tol ¢
i
]



' %men T go it a stranger's it-
brary 1 {§1) round u-d;bmk;!!ﬂvw
This'is to know the type of person
he is and I feel that I know the (82]
to his mind. Ahouge without books
is a (B3] house, no matter how rich
the carpets are.

These only tell you whether he
(84) @ Jot of moncy, but the books
tell you whether he has a mind as
well. It is not a {§§) of money that

we do not buy books,

91. (1) look (2) wander
{3) wonder . [4) run

92. (1) lucy (2) solution
(3) sccret (4) mystery

83. (1) unlucky  (2) bad
(3 characterless
(4} bieak

84. (1) have (2) has had
(3} had (4) has

85. (1] issue 12} cause
(3] reason (4) question

Directions (96-100) ; In the fol-

lowing questions, you have a brief
passage with 5 questions following
Ihe passage. Read the passage care-
fully and choose the best answer to
each question out of the four alter-
natives.

As the rulers of the planet, hu-
mans like to think that it is the large
creatures who will emerge victon-
ous from the struggle for survival,
However, nature teaches us the op-
posite : it is often the smallest spe-
cles which are the toughest and
| most adaptable. A perfect example
| is the hummingbird, which is found
in the Americas. One species of
| hummingbird known as the bee
hummingbird ranks as the world's
smallest and lightest bird and It is
barely visible when it is in flight,

Hummingbirds are the only
birds that can fly backwards. They
feed matnly on the nectar of flowers,
alquid that is rich in energy. Nectar
isan ideal food source, for b
birds need an incredible amount of
energy to sustain their body metabo-
lism, A hummingbird's wings flap at
arate of aboul 80 Ltimes per second
and its uny heart beals more than
1000 times per minute. This is why

they miust consuimic relatively large
quantities of food, In the course ol a
day, a hurnminghird consumes about.
half its body weight in nectar.

B88. Which of the following state-
ments about the bee hum-
mingbird is true ?

(1] It could fly high beyond the
clouds,

(2) It cannot be seen when it
is in [light,

(3) It i= obviously visible when i

it flies.

(4 It escapes our sight when |
Might.

itis in
Hummingbirds need a lot of
energy in order to
(1) sustain a steady rhythm of
heart-beat

(2) win in the struggle for sur-
vival

(3) maintain their body me-
tabolism

(4] Dap their wings and fly
backwards
98. The hummingbirds are exclu-

sive in the sense that

(1) they consume hall their
body weight every day

[2) they can fly backwards

(3) they subsist only on nec-
tar

(4) their pulse rate is more
than 1000 per minute
89, The word ‘incredible’ in the
passage means
(1) unbelievable
(2) phenomenal
(3) tremendous
[4) inexhaustible
100. Nature has made man realize
the fact that
(1) humans who rule the
planet are the most pow-
erful beings on Earth
(2) the largest and the small-
est species are equally
tough and strong
(3) the large creatures emerge
victorious from the struggle
for survival
(4] the smallest creatures are
the toughest and most
adaptable

| QUANTITATIVE APTITUDE

101. I 120 is 20% of a number, then
120% of that number will be
(1) 360 [2) 720
(3) 20 {4) 120

102.1n a division sum, the divisor
is 3 tmes the quotient and 6
times the remainder. Il the re
mainder is 2, then the dividend

Is
(1) 50 (2) 48
(3) 38 (4) 28
103, |—+[999§9—g]x99 is equal
7 683
to
1 (2} 99000
{3) 98800 (4] 92900

104. Let Y7 - 436 + 37 + 63 -
Then

Na<729but a> 216

[ a<216

@ as729 M) a=729
108. The number of prime factors in

£33 5 7233 g1

(1) 1221 (2) 1222
Beya) 11 {4 1211
108, THe greatest among 1.5, 1.05,

106, L.51s

(1) 1.05 (2) 105

13) 1.5 (4) 1.5

is equal to

[£1R) 24

(313 (42

10B.If x:y=3:4 and y:2=3:4,

X+i+x

then o is equal to
13 1

M55 213




73 a7
3 g3 @) 48

109. The value of

V72 x 363 %175
V32 <147 %252 *

56 45
iy @
48 55
3 55 (4) 28

110.Zinc and copper are in the ra-
tio 5 : 3 in 400 gm of an alloy.
How much of copper (in grams)
should be added to make the

ratio5: 4 9
(1) 50 (2) 66
(372 (4) 200

111.The average age of A and B is
20 years. ITA is to be replaced
by C, the average would be 18
years. The average age of C and
Ais 21 years, The ages of A, B
and C in order (in years) are
(1) 18, 22,20 (2)18,20,22
13122, 18,20 (4)22, 20,18

112, A reduction of 10% in the price
of a commodity enables a per-
son to buy 25 kg more for Rs,
225. The original price of the

commodity per kg was
merz 1
(3)22.50 (4)2 1.80

113. One type of liquid contains 20%
water and the second type of
liquid comtains 35% of water, A
#lass s filled with 10 parts of
first liquid and 4 parts of second
liquid. The water in the new
mixture in the glass i3
1) 37% (2} 46%

1 2
{3)12=9% 14) 24=5%

114.AL (he beginning of a
partnership busineas, the

capital of B m; times that
of A. After 8 months B

1
withdrew 7 of his capital and
after 10 months A withdrew

& CE iy b oo ecTmne i
%u\ of his capital, 4t the end
of the year, If the profit
incurred is Rs. 53,000, find the
amount recefved by A, -
(1)T30,600  (2)% 32,000
(317 30,000 (4)% 23,000
11B.1f x, y. # are three sums of
money such that y is the sim-
ple interest on x and 2 is the
simple interset on y for the
samc time and at the same rate
of interest, then we have
(1) 2 =xy 2] ayz=1
(3) #=yz (4) 1 = 2x
118. Mohan sold his watch at 10%
loss. If he had sold it for Rs.
45 more, he would have made
Bbb profit. The selling price (in
Rs.) of the watch was
(1) 300 (2) 900
(@110 (4)270
117. A vendor loscs the selling price
of 4 oranges on sellintg 36 or-
anges. His loss per cent is

(3] 12%* 2] 9%

(3) 1096 (a) ll%%

118B. Successive discounts of 30%
and 20% is equivalent to a

single discount of
(1) 50% (2) 40%
(3) 449 (4) 10%
XE
neargiacp g
R
e ©,where a, b, care all

non-zero numbers, then x
equals to

2abc

(81}

&

Er
8

@ ab +ac - be

3

3

8
&

+be-

2abe
@ ab + be + ac

120.17 6x - Sy = 13, 7x + 2y = 23
then 11x+ 18y =

‘-‘"m 15 = {2)5] A.BEX
pivc o 4’6" '™
T2L M+ 42 = 13800 V24 [P+ 2
. ‘.'ﬂﬂ.t}wa'n_ﬁz'fiﬁy}!agqua!

to

(1) 70 (2) 40

(3150 (4) 60

122. Two trains, of same Ie.ugm.'éi-e
running in parallel tracks in
the same direclion with speed
60 km/hour and 80 km/hour
respectively. The latter
completely crosses the former
in 30 seconds. The length of
each train (in metres) is
(1) 125 (2) 150
(3) 100 [4) 115

123. A and B can together finish a
work {in 30 days. They worked
together for 20 days and then
B left, After another 20 days.
A finished the remaining worl.
The number of days in which
B alone can finish the work s
(1180 (2)48
(3) 54 (4) 80

124. PQ is a chord of length 8 cm,
of a circle with cantre O and
of radius 5 em, The tangents
at P and Q intersect al a point
T. The length of TP is

20 21
(1) j om 12) 3 om

@ Zem

128. The area of the triangle formed
by the graphs of 3x + 4y = 12,
X-axis and y-axis (in sq. units)
is
)4 i2) 12
38 48

126.17 , . ?3*‘@ , then the val-
1
ue of ¥ +? is

ms 2) @
(312 (4) 4

127.The side QR of an equilateral
triangle PQR is produced to
the point S in such a way that
QR =RS and P is joined to S,
Then the measure of ZPSR 18
(1) 30° (2) 15°
(3) BO® (4) 45°

10
3) 3 m



128. ABCiis an lsosceles triangle
with AB;= AC. The side BA is

... produced to D such that AB =
- 7 AD, If ZABC = 30°, then <BCD

1 is equal Lo
(1) 48° (2) 80°
(3) 3¢° (4) 60"

129. ABCD is a trapezium in which

AB| |DC and AB = 2 CD. The

|~ diagonals AC and BD meet at

"), The ratio of areas of trian-
gles AOB and COD s

ni1:2 2)1:42

[@4:1 [4)1:4
130. The altitude drawn to the base
of an isosceles triangle is 8 em
and its perimeter is 54 em. The
' area (in em?) of the triangle (s
(1) 240 [2) 180
(3) 360 [4) 120
131. Three salid iron cubes of edges
4 cm, 5 cmand 6 om arc melt-
ed together Lo make & new
cube. 62 cm® of the melted
material is lost due to improper
handling, The arca {in em?) of
the whole surface of the newly

formed cube is
1) 294 (21343
(3) 125 (4) 216

132.1f the ratio of volumes of two
cones is 2 : 3 and the ratio of
the radii of their bases 1s 1: 2,

then the ratio of their heights
will be

(a:4 (2)4:3
@a:s8 (4)8:3

133. A right pyramid stands on a
base 16 cm square and its
height 1s 15 em. The area (in
em) of its slant surface is
(1) 514 (2) 544
(3) 344 (4) 444

134.1f a chord of a circle is equal
to the radius of the circle, then
the angle subtended by the
chord at a point on the minor

arc is
(1} 150° (2) 60°
(3) 120° (4) 30°

135.The length of each side of a
, Fhombusis equal (o the length
of the side of a square whose
diagonal 1s4p,/2 cm. If the
lengths of the diagonals of the

rhombus are in the ratio 3 : 4,

then its area (in cm?) fs-

(1) 1550 (2) 1600
81535 (4) 1836
136, The grealest value of sin*d +

cos*d is

(e (213

1
(&8 (41

137.11 3sind + Scosd = 5 then
Ssind - Joos is equal to
(1)=3 (2 =5
(311 Me2

138. If sin + sin®d = | then the val-
ue of cos?d + cos* 0 is
a2 (2) 4
(3)o (@)1

138. From two points on the ground
and lying on a straight line
through the foot ofa pillar, the
two of elevation of the
top of the pillar are
complementary o each other,
If the distances of the two
points from the foot of the
pillar are 9 metres and 16
metres and the two points lie
on the same side of the pillar,
then the height of the pillar is
(15m (2)10m
(8) 7m (4) 12 m

140, The sum of interior angles of a
regular polygon is 1440° The

number of sides of the polygon
is

(1) 10 2)12

36 (4)8

141, The base of a right prism is a
right-angled triangle whose
sides are S5em, 12 em and
13 em. If the area of the total
surface of the prism 1s 360
cm?®, then Its height (in cm) is
(1] 10 (2) 12
@9 4} 11

142. The product cos 1° cos2° cog3®
co84” ..., cos100° 15 equal to

{1-1 2) %

(31 Mo

1438. Three pipes A, B and © can fill
a tank in 6 hours. After work-
ing together for 2 hours, @ js
closed and A and B fill the tank

in 8 hours. The time [in hours)
in which the tank can be filled
by pipe C alone is
11) 10 (212
38 (4) 9

144, The radii of two circles are 10
cm and 24 cm. The radius of a
circle whose area is the sum
of the arcas of these two cir-

cles is

(1) 36 em {2) 17 cm

(3) 34 em (4) 26 em
145. The value of

{xb")h_‘{x""']c_al:x“"t')u_b :

[x=0)is

mi @2

3-1 ()0

148.LCM of twa numbers is 2079
and their HCF is 27. If one of
the numbers is 189, the other

number is
(1) 297 (2) 584
(3) 189 (4) 216

Directions (147-148) : The table
showe the percentage of total pop-
ulation of a city in different age
groups. Study the table and answer
the questions,

Age group Percent

Up to 15 20,00
16-25 1895
26- 35 16.75
8645 1625 |
46-55 15.00
56- 65 180 |

66 and ahove Zo |

147.1f there are 22 million people
below 36 years. then the num-
ber of people (in millions) in
the age group 56 - 65 is
s (2)5.8
33 4)35

148.11 the difference between the
number of people in the age
&rotips 46 ~ 55 and 16 - 25 1s
0.975 million, then the total
population [in millions) of the

city is
(1) 27 (2) 30
(3)22 [4) 25



* Directions (149-150) : Study
the following graph and answer the
queslions.

—# Company X
~=- Company Y

4 2005 2008 2007 2008 2009 2010
Years
148, 1f the imports of eompany X in

2007 were increased by 4084,
what would be the ratio of ex-

ports to the increased imports #
(1) 1.25 (2) 1.75
(3) 0.25 (4) 0.75

160.1n 2005, the exports of
company X were double that
of company Y in thal year, If
the imports of company X
during the year were Rs. 180
erores, whal was the amount
{in crare Rs.) of imporis of

company Y during the year ?
(1) 212 (2) 210
3) 315 (4) 282

GENERAL AWARENESS |

151.A supply function expresses
the relationship between

(1) price and output
{2) price and selling cost
(3] price and demand
(4) price and consumption
152. Goods which are meant either
for consumption or for invest-
ment are called
(1) Final goods
(2) Giffen goods
(3) Inferior goods
(4) Intermediate goods
153, Variation In Cash Reserve Ra-
tio and Open Market Opera-
tions are instruments of
(1) Budgetary policy
(2) Trade policy
(3) Fiscal palicy
14) Monetary policy

164, Who aaid “Man is a Iom.l anj-
“] Arls'botle 2 Rousseau
[3) Laskdi (4} Plato,
1B8. “Marginal Cost” equals
(1) total cost minus total ben-
efit for the last unit pro-
duced

(2) total cost divided by total
benefit for the last unit pro-
duced

(3) total cost divided by quan-
ity

(4) the change In total cost di-
vided by the change in
quantity

188, Extreme forms of markcts are

(1) Perfect competition: Ol-

Kopoly

2} Oligopoly: Monopoly

(3] Perfect competition; Mao-
(4) Perfect competition; Mo-
competition

167. The President of India has the
onary power to
(1) impose President's Rule in
a state
(2] appoint the Prime Minister
(3) appoint the Chiel Election
ner
(4] declare Financial Emer-

gency
158. The script of the Indus Valley
Civilization is
{1} Kharosthi
(2) Undectphered
() Brahmi 4) Tamml
159, Which one of the following Ist-
erary pieces was written by
Krishna Devaraya 7
(1) Kaviraja Marga
(2) Ushaparinayam
(8) Anukcio Malyade
(4) Katha Saristhaga
160, Namne three timportant forms of
Satyagraha.

(1) Non-eooperation, civil dis-
obedience and boyeott

(2) Boyeott, civil disobedience
and rebellion

{3) Non-cooperation, revolu-
tion and referendum

{4) Revolution, plebiscite and
boyeott

61 Which, Article crnpewers (he
. President to impose Fimancial
E‘mer(cncy

ﬂ.lMicl-a 358 121 Article 351
13) Article 352 ' (4) Article 360
162. Which of the following suls-
jects docs mot figure (n the
Concurrent List of our Con'm
tution ? $
(1)Stock Exchanges and Tu.
tures markets
12} Protection of wild animals
and birds
(3} Forests
{4) Trade unions
163. The “Grand Canyon" is on the
Tiver

(1) Colorade (2] Columbia
3) Ohia (4} Mississippi
164. When the East India Company
was formed, the Mughal em-
peror in India was
(1) Jehangir (2} Humayun
(3) Aurangzeb (4} Akbar
185. Which one of the following
events did not take place dur-
ing the Vic:ruyaity of Lord
Curzon 7
iA) Establishment of the De-
partment of Archacology
(2) Second Delhi Durbar
(3) Formalion of Indian Na.
tonal Congress

(4) Partition of Bengal
186.Who among the following
played a prominent role dur.
ing the “Reign of Terror i
France ?
(1) Voltaire
(3) Robespierre
(4} Montesguieu
187. The highest waterfall of [nd
is in the state of
(1) Andhra Pradesh
(2) Assam
(3) Maharashtra
(4) Karnataka
188, Soil which is prone Lo inten
slve Iea,r_-hlng due to rain

(2} Marat

called
(1) Laterite (2] Black
(3] Alluvial (4] Red

169. The formation of ‘Mushrood
rock’ In desert region {s an
ample of




(1) Deflation ' (2) Attrition”
(3) Abrasion  (4) Erosion

70. Hydroponics s a method of |

culture of plants without us-
ing

(1) water' " (2 lignt "~

(3] sand (4] soil
171.The non-green heterotrophic

plants of plant kingdom are

(1) mosses. (2) ferms

13) algac (4] fungt

172.Which gland in the human

body regulates the seoretion of

hormones from the pituitary
Eland?

(1) Thymus gland
(2) Thyroid gland
(3) Adrenal gland
(4] Hypothalamus gland |
173. The old and worn-out red blood
corpuscles are destroyed in
(1) Liver
(2) Stomach
(3) Bone marrow
[4) Spleen
174. Subtropical high pressure belts
are otherwise called
(1) Furious fifties
(2) Sereeching sixties
(3) Horee latitudes
{4) Roaring forties
178, Self pollination will lead to
(1) inbreeding
(2) rare breeding
(3) overbreeding
(4) outbreeding
178.1In any spreadsheet, the ad-
dress of the first cell is
(1) 04 (2) 1A
(3) AD (4)al
177.Match List I with List II and
choose the correct response :
List1 List Il
a. Vitamin B, 1. Pyridoxine
b, Vitamin B, 2. Cyanoca-
n
€. Vitamin B, 3. Thiamine
d. Vitamin B,, 4, Riboflavin
(1] a1, b-2, c-3, d-4
(2)a-2, b-3. c4. 41
(3)a-3,b-4, 1, d-2
[4)a-4, b-1, c-2,d-3

178, Ohm's Tavw 15 valied oy Cus& Bl |
(1) semiconductor |
12) coriductor tH |
(3) superconductor ' © f
(4) insulator s |
178, The Laser is @ beai of radia- |
tions which are -
l'l]'Nun—l:uher:nt md monn-
chromatic
(2) Coherent and monochro-|
matic

(3) Non-coherent and non-!

(4) Coherent and non-mono-
chromatic

180. Centigrade and Fahrenheit

temperatures are the same at
(1) aa* (2) 407
(3) -ara° (4] =40°

181.The dimenstonal formula for
universal gravitational con-
stant is
ML (gmiirt
(68 )Mt AT
182.The pH of lemon julce Is ex-
pected to be

(1) equal to 7
(2) nothing can be predicted
(3) less than 7
(4} more than 7

183.An example of heterocyciic
compound is
(1) Naphthalene
(2) Furan
{3) Benzene
(4) Anthracene

184.In clectro-refining, the pure
metal s deposited on
(1) vessel (2} electrolyte
(3] cathode  (4) anode

185. Which one of the following is
correetly matched ?
(1) Secondary consumer -
Grass

12) Decomposer - Bacteria
(3) Preducer - Deer
(4) uﬂm consumer - Leop-

186. The deciduous trees will
(1) shed their leaves every year
(2) not lose their leaves
(3) synthesise their own food
[‘lill:;pamd on others for thelr

mauoquaaus anwng the
wild vrballawhog. iqiqy o
(1) MS-Access
) MS-PowerPoint
i
Ll
188. The databas:: in which records
are organised in a tree-like
SUTUCIUTE IS
*{1) Nelwork database
“{2) Higrarchical database
(3) Relational database
(4) Object-oriented database
189, Natural rubtier is a polymer of
(1) Vinyl ace:ate
: (2) Propene
_(3) Isoprene
(4) Styrene
180. Which one of the following
films was not directed by
Satyajit Ray 7
(1) Aparaitta
12) Chantate:
(3) Pather Parchall
[4) Salaam Bombay
191, The endangered species are
listed in what colour data
book?
(1) Black (2] Red
(3) Green (4] Blue
182, Which country won the maxi-
, M numbe'r of medals in the
* Astan Athletic Championships
held in Pune recently 7
{1 Japan
(2] Saudi Aralyia
(3) Bahrain
(4) China
183, Which country will host the
next World Cup Football in

20147
(1) France [2) Chile
(3) Brazil (4} Spain

194. Which one of the following an-
clent monuments in Delhi is
not a World Heritage Monu-
ment ?

{1} Red Fart

(2) Jantar Mantar
(3 Humayun'ss Tomb
(4) Qutub Miriar

18B. Which one of {he following or-
Banizations arid its headguar-
ters are wrongply matched ?



{1} Interpol — Lyon
(2) Universal Postal Union
— Berne
[3) Food and Agriculture
— Organization Rome
{4) International Civil
— Aviation Organization London
196, Who 1s the author of the book
“The State of the Nation"?
(1) Mark Tully
(2) Vinod Mehta
(8) Kuldip Nayar
(4) Fall §. Mariman
107. Among the {ollowing Nobel lau-
reates, who was not a recipi-
ent of the Nobel Prize for
Peare?
(1) Sir Winsiton Churchill
(2) Wondrove Wilsan
(3) Linus C. Pauling
(4) Morman Emest Borlaug
108. Which Union Territory in In-
dia has four districts but none
of its districts has a common
boundary with its other dis-
tricts ?
(1) Puducherry
(2) Dadra ai.d Nagar Havell
(3) Andaman and Nicobar Is-
lands
(4] Chandiglarh
199. The Keibul Lamjao, the only
floating National Park In the
world is in
(1) Manipur {2) Mizoram
(3) Assam (4) Meghalaya
200.Which one of the following
days is mot observed in the
month of October 7
(1) Indian Air-force Day
(2) U.N, Day
(3) World 1Znvironment Day
{4) Internstional Day of Non-
violence
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